Name of the Trade - Electrician 3" Sem - NSQF - Module 1 - DC Generator

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the name of the part marked Armature core Brush Commutator raiser Commutator S SRR H 'X' & &4 H fdigd HRT 3{THR DR B BRI ToR PR TS C 1
as ‘X' in DC generator? segment BT ATH T 82
:
Differential long Differential short [ Cumulative long | Cumulative short [D.C SRR ®T ATH HI &2 TSHRIRIA dI-1 /IC SRR A RC | JadI el RS UMD [Hl AY RS AMMTD| - A 1
shunt compound shunt compound shunt compound shunt compound HUSS Biticy
3|Which rule is used to find the direction Cork screw rule  |Right hand palm rule| Fleming’s left hand Fleming's right  |D.C SRcx H URd SUHTK ] T¢=N J1d Sl ¥p A Gl 81 I g4l BT | T D JU 1A Dbl | TliET & GlieH D 1
of induced emf in D.C generator? rule hand rule P & o for g &1 o foan a o g &1
ST 82
4|Which formula is used to calculate the | Generated emf = Generated emf = Generated emf = | Generated emf= [D.C SRc} H Idd SUHAIK ] U] JIF STHATK = JF STHATK = JIF STHAUK = I JTHTK = C 1
generated emf in D.C generator? OZN o OZN Ao 9ZN P o N Pyt W%WWWWWW $ZN GZN A 0ZN P N P
60 ° 60 P "° 60 “A"° 60 X¢ A ST 87 “60 Vol “60 ¥p Vot X Vot 0 xg A"
5|What is the formula to calculate back E,= vV Volts E,=VxI,R,Volts | E,=V-I,R,Volts |E,=V +I,R, Volts [STATH &I UM B &I I R Ep = dlec E,=VXxI,R, @ecd |E,=V-I,R,dlecd | Ep=V+I,R, C 1
emf of a D.C motor? laRa 82 laRa A
6|What is the name of the part marked Pole tip Pole coil Pole core Pole shoe DC Generator §'X & &0 H [aigd Y11 §d Dl Alh d Hsall I R Tid g D 1
‘X" in DCgenerator? W?IT[ER?IT%?
7|What is the name of the D.C Shunt generator Series generator Compound Separately excited |D.C SFReR &l ATH R 5?2 T S RCR AU SRR T SRR 3T ¥ Jdlord D 1
generator? generator generator STYER
]
8|Which energy is converted into Heat Kinetic Chemical Mechanical S RER gRI1 1T Sl &l f[dggd SHoll H ] A= NGIEIEEE BIiEED D 1
electrical energy by generator? yRafdd far sirar %?
9|What is the name of D.C generator's Short shunt Long shunt Differential Cumulative D.C SRcR Thitg &l A =1 g2 Y R YINTD SFReR | AT ]I DURES S-Rex | [aHEH AT S-vex | el Al S| D 1
field? compound generator | compound generator |compound generator compound
generator
10{What is the principle of D.C Cork screw rule | Fleming’s left hand [Fleming's right hand | Faradays laws of [D.C SFRcR &1 Riid T 5?2 Sl ¥p A TR o ST BRI BT | TRITHT & alled 81d | RIS &l [dggd D 1
generator? rule rule electromagnetic g P | Eal
induction e
11{What is the formula for dynamically BLV volts BL sin6 volts BLV sin@ volts BLV cosb volts  [TTiARITc ¥4 ¥ URd STHIK b [T A BLV Al BL sin6 dlee BLV sin6 dle BLV cos8 dlcc C 1

induced emf?

FAT?




12|Which rule is used to find direction of Cork screw rule  |Right hand palm rule| Fleming’s left hand Fleming’s right RECIRIRIGESSEAGH PIh Tp [IH alied Bl I gUdl DT | T b S g1 bl | Tl & alied
magnetic field? rule hand rule s &1 IuaT fohar o 872 a BEE B &1
13|What is the name of the part of DC Stator Pole core Pole shoes Yoke (or) frame [SIHl SFRCR P HIT B ATH T 572 TR 4d BR i g i (A1) ThH
generator?
g
14|How many parallel paths in duplex lap 4 6 8 12 4 U1 ST SFRER o %Lmd%l REEIEEN 4 6 8 12
winding of a 4 pole DC generator? T fpa- TR I 872
15|Name the part of DC generator? Side end plates  [Pole shoe lamination Commutator Armature core | Sl SFRER & HIT BT A1H Jdigu? qrgs US Wy I Y AFARH HRCR TS 3R HR
segment lamination KIGENE
g
16|How interpoles are connected in a DC In series with In parallel with In series with shunt | In parallel with  [STHl SXCY H SRUIA bl IS BId ©2 | SMTHAR & A1 47l H | MHIR & A GHMIR H| RV Wics & a1 RIC Thits & WY
generator? armature armature field shunt field CRENI o AR o
17|What is the necessity of residual Build up the voltage | Reduce the field Reduce armature | Maintain constant [T& a0 Jioid ST SFRCY H SHATRIE dlecsl ol IO B ThItS HIC HH DR AHR I HA DR | 994 3M3TYC_
magnetism in a self excited DC current current output voltage  |dddd P SMIGHAT T %’? ﬁ@ﬁw g
generator?
18|Which are the two points that the Resistance between |Resistance between |Resistance between Resistance D.C TRIFI H, d ®1F 4 &l fig & off 5= [ARIATI P dd | TR 3R FRICCI IZoR | S 3R ch%dd% & | ORISR SR
brush contact resistance measured in |the opposite brushes brush and brush and between brush and [0 TfeR Hﬁtﬂ'qﬁ%? gfaRiY & g ufeRry EiE| Y HSIR & dF
D.C machines? commutator raiser commutator armature conductors iRy
19{Which voltage drop is indicated in the |Full load voltage drop| Armature voltage | Armature reaction | Shunt field voltage [[%¥ dlccdl ST &I 'X' & U H [digd PUKIEEIGERIG 3{TH=R dlecol UTd SfTHAR RURM gIU | RIC WIS dlecl
portion marked as ‘X'? drop drop drop o 1T!ZIT%’? S
T .
z g
i :
° LOAD CURRENT T K §
20|What is the name of the compound Long shunt Cumulative Differential Short shunt DRSS TR BT AH H &, Tl e =T TC HUSS GERIRIEE faves AT Y T gD
generator, if the shunt field is compound compound compound compound HIeE MR & 1Y JHAMIR o NSl
connected in parallel with armature? gl %?
21|Why the armature core of a DC Reduce the copper | Reduce the friction Reduce the Reduce the eddy [l U ST SFReR P HHIR HR dTY BTiH &1 HH B gy g1 DI HH B e RN Eﬂﬁfﬁ‘[ U’ %I'I'\’TETﬁﬁ
generator is laminated? loss loss hysteresis loss current loss gefod %’? FH B FH B
22|Why armature resistance of a D.C Reduce armature Reduce armature | Run armature with Reduce the D.C SFRCX &1 3{THR UIcRTY Sgd HH AHRURTPHADPR | 3fHAR dlecol g DI PHISA D I | STHAR BT qIIHH
generator is very low? current voltage drop less weight temperature of %? FH P ENIY FH P
armature
23|Why the D.C generator should run in  |Protect brushes from | Protect the residual |Avoid short circuit in | Avoid over loading |D.C SFIXCR &l Usi Bl 1aRN H ol R SR D] TH UM Y FA | S(AIRIY Jdbd I & | SMHAR H RIC Fidbe | SFRCR SAITHIRG
clockwise direction only? damage magnetism armature of generator ENEI ?H%E? Ry J§d P I 9
24|Why compensating winding is Connect more loads Reduce Neutralize armature Increase the g ST SFXCR H gHIGGR &Tdqld |l | 3fIEfd Al Hride B | HRICRA YA HI HH | STHAR FIdIshdT JHIG | SFRC DI qafdl
provided in large DC generators? commutation effect reaction effect efficiency of UM P St 872 P TR B deld

generator




25(What is the reason for DC generator | Loose brush contact | Armature resistance | Field resistance is Prime mover is  [SI¥l SReX & dlces o] [HHIUT bR H HNERKEIEE 3MTHTR UIcRIY 3fieih § | Wics iaRid shilde | WIgH AR X¢s TMid
fails to build up voltage? is more above critical running at above  |fdTd B BT T HRUT 2 TRYTIRE | ISWIAAET S
resistance rated speed
26(What is the name of generator, if its Shunt generator Series generator Compound Self excited SR B AH T T, gic 39&T & T SFNCY I STFReX T STH¥eX 9 Idold SFReR
field is connected in parallel with generator generator TR & FHMIAR ST gsl
armature? 2
27|What is the purpose of pole shoe in Reduce the air gap | Increase the field Minimize the Spread out flux  [SI SFRER H UTd Y HT I AT 6?2 TR Y D] HH P &A DI ADbd dgl!  |[JID I BIAI Bl HH | TR U H A
DC generator? strength magnetic losses uniformly in the air G =Y @r UeTeRT Cal
gap
28|What is the function of split rings in Maintain constant | Collects the current Reduces the Increases the  |SI] SRex H [Kie N HI H Hd 8? | AR dlecsl U IM | YRT hI Tb [GRM H Thd | 9% TR dlec ol ®l | e ?51 ggg 4
DC generator? voltage unidirectionally voltage drop at terminal voltage Pl % HH Bl
brushes than rated
29|Which material is used to make brush | Steel and graphite |Carbon and graphite Cast iron and Aluminium and  [SFRER 8 SR §91 & ToTQ Ty Q1901 61 TId 3R UhIgc HIe 3R YBIsC gdl gl 3R YIS | TegHIHIH 3R
in generator? graphite graphite JYTRT fopar ST %’? aTh"IB'C’
30|Why DC generators are loosing their [Heavy short circuitin | Running without | Continuous running | Change of direction [l STHI SRR 30 (AT adhd Tl | YR H HRI MM Hdve | o1 A & TMAR 9 | 91 ¥ & AR RICRE Dl =
residual magnetism? load load continuously without break of rotation very often Tag? el % ENEI SRR daad %
31|How does the magnetic circuit Field coils Armature core | Laminated pole core [Winding conductors [T& ST<eR H Jih Gﬁ?%$ e g & psdl 3THIR HR gcield Uid R SHTHTR | aTslsT
complete through the yoke and poles in armature El,'clilﬁ”q gfthe HY ? PSR
in a generator?
32|Why the terminal voltage decreases if |Because of armature | Due to increased in | Because of brush | Due to increased in [SI9l Rlc \:1-1«‘.{ HAlS g1 WHAA | 3MTHTR UidihdT UHT | 3THIR UIaRIY H gl b | SR diceol & delg ¥ [ TE ics WRbd H
load increases in DC shunt generator? reaction effect armature resistance voltage drop shunt field dleeol HH I g1 SIrdl %’7 & BRI DRI TRTde &Y 81 Sl & E{@ & HROT
decreases inductance
33|Which type of DC generator is used Shunt generator Series generator Differential Cumulative S} ERT$T EUNERE A NSES T TR U SRR TaHT® AlTh S ReR [Tl ANNTD SRR
for long distance distribution lines? compound generator compound UHR & ST SH¥eR BT IUTNT fopdn
generator NIl %’?
34|Which method is used to improve the Replacing the Heating the Cleaning the Blowing hot air in to [SIHl SReR H 5%&4 UIRIY 1 d5dR | SR &l IR-6R dga-l | JHI-THY R HRIH &l ERIECRSEE /GG D GRM
insulation resistance in DC generator? | brushes frequently | machine by running commutator the machine during TIH & fore forg JUTRT farar T AT ITHE Pt T=fiT & 7 gar
periodically segments regularly maintenance [SITdT %’? ?I'Elv‘l'sc DAl ol
35(Which type of D.C Generator works in | Shunt generator Series generator Compound Separately excited |3{dIRY b P 3HIG H [ UHR BT T T ReR AUl SRR T SRR 3T I 3tord
absence of residual magnetism? generator generator D.C HTH BT 82 SRELeR
36|Which type of D.C generator is used Shunt generator Series generator Differential Cumulative 3{Th AT & [T [ g bR &b D.C T SRR N SRR fadcs At S ReR [Tl AN S-ReR
for arc welding? compound generator compound SRR WWWG‘W%’?
generator
37|What is the property of wave winding Low current low High current low Low current high | High current high [D.C SRcR H 71 ATged] ol [ARINdI HH YRT HH dlcel J= YR HH dlec ol HH YRT I dlecol I URI 3=
in D.C generator? voltage voltage voltage voltage ERZIT%? Fleedl
38[What is the purpose of resistance Maintain constant | Nullifying statically | Increasing statically | Smooth reversal of [D.C SReX H HRcc JAGH HUGdd | MTd dicedl SN G | YI Widp TUF URA | Ridd U J URd YR 1R BT
wire used in the commutator voltage induced emf induced emf current direction  |UfeRIY dR &1 3%@ HZIT%? SY'QTIQ'EF '&FQTI'ETCFEIE'HT ST T gdeT
connection in D.C generator?
W
[ « [ = [ =« [ « [
i
39|Why solid pole shoes are used in D.C To reduce the To increase the To decrease the Toreduce the  [D.C SFRCY H 319 UId Y BT SUANT T | A& & JHUH Bl HH | (IRIY T Pl TgH W‘QT;_?W%‘T JIh g Y &
generator? copper loss residual magnetism | residual magnetism reluctance of [CRIRIG]] %7 PRA D T%‘I'Q ﬁﬂ DH & ﬁ'ﬂ;f Raacq &1 &9
magnetic path CaSCANIY
40[Which metal is used to make large Cast iron Soft iron Aluminium Rolled Steel IS &Tdl P Sl SReR AP & oD gddi digl EERIE] SIIHIIH e Kid
capacity DC generator yoke? fo fog YT bl I foar S %?
41|What is the function of split rings in a Supplies output | Makes output in the | Makes output in the | Collects the output [S1 Tl SRcx H el N BT R H1A AR 3T3cYe &l T 3= H 3I3cyc CERGRERIE TdTddl heder
D.C generator? continuously uni direction opposite direction from alternate ? HTQ[% EFH’CIT% 3{I3cyc Tﬂ‘cﬂ% 3{13cYc UhA

conductors

IRAT T




42|Which type of voltage is induced Pulsating voltage | Oscillating voltage | Alternating voltage Direct current  |D.C WFReR H [b¥ UbR &l dlec ol TeTCT dlecol ANERINEIGSS) TTddl dlecol T& YRT dlec ol
dynamically in a D.C generator? voltage IR W@aﬁﬁfﬁ?ﬂ%’?
43|What is the purpose of slot marked as | To fix the key way To make air For lubrication For easy removal ['X' @ ¥4 H [digd Wl BT 35T A1 82 [Hoil dRId] 3l B b | d1g TRIERUI S &b WG eI B [T | RS Y I A
X? circulation purpose from shaft T%‘I'Q e 1% ﬁm
o i
44|What is the purpose of field coils in To increase the flux | To decrease the To magnetize the Toincrease the |D.C SRR T Hice HISA B I HT | TR IU T R B | BUCIZION] HRC bl HH EENESNERED DI JY b
D.C generator? in air gap magnetizing current | poles to produce reluctance of %? aaﬁ%ﬁ«m Hﬂﬁ%ﬁﬂ ﬁﬁwﬁ%ﬁﬂ ﬁﬂﬁ%ﬁﬁﬁ%‘lﬁ
coil flux magnetic path ¢[dl B Frafdbd HAT & forw
45|Which metal is used to make pole Soft iron Cast iron Cast steel Stainless steel |98 Sl e ORI & Uld ®R &M EEGIE] gdd] digl gddl srd T K id
core of large DC generator machines? %%‘QW H@WG@T%&TW%’)
46|Why the pole core stampings are Reduce the friction |Reduce the windage Reduce the Reduce the eddy |1 U SR LMY ST SRR H YOG P PA I | [ASA AT DI PAIR | ToXRUN G PI | HIR YRT B Bl
laminated in DC generator? loss loss hysteresis loss current loss Yeferd #vd 872 FH B FH B
47|Which type of DC generator is used Shunt generator Series generator Differential Cumulative gAaCIIicT Uishdl & [T Tbd UbR & T S RCR AU SRR favee AT TReR [l AT S-Re]
for electroplating process? compound generator compound ‘s‘ﬁ’f\_ﬂi’a? WGW"T%CITGH?IT%’?
generator
48|What is the purpose of compensating | Minimizes rough Maintain constant Neutralizes the Decreases the  [SI¥Il SFRcI H HH-HICT dAISIST Bl BHOR DRI HH Mad S3cYC dlecs | [qTRBIDHRUI THIG REEENED
winding in DC generator? commutation output voltage demagnetizing effect| excitation current of B%Qﬂ GCH%? W% CRIESC] DI IR PR AT 8 JIo YRT B
field coils HeTar 3
49|What is the effect if the shunt field Output voltage is Output voltage is | Generator fails to  |Generator builds up [gic =/ Tits UIdRIY Shilde UIdRIY A | 3M3cYc dlces gedicdT | 3T3cYc dices] AR | SReR dicesl §1H H | SHRex I A 9
resistance is above critical resistance pulsating above normal build up voltage voltage normally JFWR 8 A AU ggdi ? IIWE fowa gar g J Jeeol I &
value in a ?
D.C generator?
50|What is the effect of armature Output voltage Output voltage Output voltage is | Output voltage will [ST SFRCRI H 3THR Yldlchdl BT UHTA | HT3CYC dicesl d@dl 6 | HT3YC dicesl bH 5l | 3T3CYC dlcedl Wigd dlecol
reaction in DC generator? increases decreases pulsating become zero EEIT%? GI'IT‘IT% aw% RIGIE RS I
51|Calculate the emf genarated in a 4 178 V 243V 357V 428 V R NERKCICIRS] 3ﬂﬂiﬁ$ﬂnrw 4 178 V 243V 357V 428 V
pole DC generator with simplex wave Uid ST ST Rex | 1020 HeFR %
wound armature has 1020 1500 3RUITH &) Tfd I Tarferd g,
conductors and driven at a speed of TRIeRT / Ui 0.007 %m% Jadrfed
1500 rpm, the flux / pole is 0.007 é@wﬁmaﬁ?
webers?
52|How the effect of armature reaction Using compensating | Providing additional | Increasing brush | Adding resistance [dg SIl SRcR H 3THR UidIhAT b HHTHICT ARIST BT | AR e Uld UG | 5= JUD TRl Je1 | dTRisT & 1Y
can be neutralized in large DC winding inter poles contact resistance | wires with winding |UHTd P HY IR T I gbell %’? HHAT HAT gfaRIY arl &l
generators?
53|What is the effect in D.C generator, if | Field coil resistance |Armature resistance Increase the Looses its residual |D.C SFRCX H 1 JHTA BIdl ¢, SR 34 | Bite PIRA MRIY TG | MHR WRIY Tgdl & | SATHR YIdhAT d61 | 30 AR
it is kept ideal for long time? increases increases armature reaction magnetism e IHY dF dg 39T S? ST § Wﬁ@é‘cﬂ%
54|Calculate the induced emf of 4 pole 160V 320V 480V 640V 4 O1d STHI & R W DI IO 160V 320V 480V 640V
dynamo having 1000 rpm lap wound $%, 1000 &I'ITlﬂ@ &S 3R
and total number of conductors is hedcl aﬁw I$=AT 600 % Ul /
600, the flux / pole is 0.064 wb? U 0.064 wh %’7
55|What is the effect on induced emf if Induced emf Induced emf No change in Induced emf [Tl HXHT &F b1 EIEI'I%’ Sl S ReX H URd EMF Sgdl & URA STAUG Ucdl & | URd UAUD H PIs | URd STHTH A
the main field flux get distorted in DC increases decreases induced emf becomes zero Tﬁ% E-T\_rlTQ arufa R AT dadid :|B°f E?f NSITdT %‘
generator? THId Usdl %‘7 : :
56(What is the cause for heavy sparking | Short circuit in field Short circuit in MNA and GNA Too much spring |SI¥I SFRCR & SIRT H HRT T Bl lce diglat | Qe AR AGISTHYC | THTAU R SITAT | SR &b &Y H §gd
in brushes of DC generator? winding armature winding position changed tension at brush  [RUT KT %’? gidhe gide fufa W‘T&F i T - 1a




Name of the Trade - Electrician 3" Sem - NSQF - Module 2 - DC Motor

Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|Which instrument is used to measure Megger Multimeter Series type Ohm Kelvin bridge [ 3{THTR ATl UidRIY [ AU & 0T R AecHIeR Ul UhR 3 AR Dhicd Tsiol D 1
armature winding resistance? meter WWWWWW%’?
2|Which instrument is used to test Tong Tester Internal Growler External Growler | Digital multimeter ["RIIC 3R 3lUq Hlde & IaTT SHHR I WRI&D 3fTAR® AR T AR fSTolcd AeciHleR C 1
armature winding for short and open H@TW@WW%WW
circuit? WWWWW%'?
3|What is the name of the speed control | Field diverter method |Field tapping method| Voltage control Armature diverter _ ice SMdeR 191 hics cIuvl fafd dlecol MU AT | MHR SRdeR 191y | D 1
method of DC motor? method method %3 Y Arex Bt 71 gz fafd &1 a7 A
?
-~ -
A
Az
L
H
4|Which winding wire is used for DC field Super enameled | Single silk covered | Double silk covered PVC covered YW FHcS dld & RESASSZEES S9d e Hds PVC $dS PR A 1
coil? copper wire copper wire copper wire copper winding wire [S} Bics Pisd & foT fbg aEfST ar R DR IR DR IR AEfET IR
T UGN fa T ST 82
5(Which formula is used to calculate the E ® E @ A 1
speed of DC motor? N = b N = Ep @ Ep-@ et Tirex & TR 9 U B e N = b N — Ep @ Ep @
E N=—2"| N=—2— E N=—2"| N=—2—
P b 120 60 |fora 3 o1 Ui fopa i 82 P b 120 60
6]|How many parallel paths in duplex lap 2 4 6 8 4 U1d D.C HICR &1 3HR H %LQ'MH g 2 4 6 8 A 1
winding in the armature of 4 pole D.C & fohd THMIR I &2
Motor?
7|Which rule determines the direction of Right hand grip rule |Right hand palm rule| Fleming's left hand Fleming's right |D.C AR H 3MHIR & DI [GRT DI |Gl 81U Udbs MaH | alied g1 i gdcll | T T STE eI &l | il T b alled gld | C 1
rotation of armature in D.C motor? rule hand rule 1 g Fyffd srar g2 P gH ER] CARRDE
8|What is the name of D.C motor? D.C shunt motor D.C series motor D.C differential D.C cumulative |D.C AIeX &1 1 9H 8?2 D.C T Hic D.C Uil HIex D.C 3[dobd- difld |D.C Il i HIex| A 1
compound motor compound motor TR
Ez Az DC BUPPLY
9|Which rule determines the direction of Right hand grip rule |Right hand palm rule| Fleming’s left hand Fleming's right  [S1 Tl HAICX H Hc &l [¢RN 1" MAH I | Glig1 81U U HUH | Qg1 I HIgdall |TRIM T D S GI DI | IF T Db aligi8ld | D 1
current in D.C motor? rule hand rule fuffea gt 82 CARRRL] [BRL o1
10[what is the formula to calculate the D.C X< HIcR MR gR1 Al 7T URT BI C 1
t taken by D.C shunt mot =Y ly=cb o=~ V+Ep UM A BT 182 Y lo=ct =Y =Eo V+E,
current taken by D.C shunt motor o *7R, 2=7R, =" g : a=h a7R, aTTR. ly= =
armature? a 2 2 a
11|Which rule is applied to identify the Cork’s screw rule | Right hand grip rule | Fleming's left hand Fleming's right  [SIHl AIcX H UIdd Pi [GRI i Jgdr PHIch Tp HIH aliel g1Y U MaH | RIGTh U I Dl | G b aligd ald | C 1
direction of flux in DC motor? rule hand rule émﬁés%qﬁ?wﬁmaﬂl%mw am &1 fgw
?
12|Name the type of DC motor. Shunt motor Series motor Long shunt Short shunt Sl AleY &b UBR Bl ¥ < T AR YUl AR Tl ][ HUNSS HICR | TIC RC HUSS HICR | D 1
compound motor compound motor
:
13[What is the formula to calculate back P P 60 Ao DC HIeX # EMF &1 TUH] &R Dl I P P 60AQ C 1
. n _ZNP _ _® E. - ) _ ZNP _ _e E, =
EMF in a DC motor? Es = o0 A = 7060 A Eo="eoa b= NP ERINE o= e0A o= 060A B =50 a bTTZNP




14|What is the name of the equipment? Megger Earth resistance Internal growler External growler [3UbRUI &1 ATH HIT 5?2 R H UToRTY WRI&H STARD AR T AR
tester
‘COIL INSULATED FROM CORE §
15|What is the name of winding, if coil pitch | Full pitch winding Half pitch winding Long chorded Short chorded  [dfe ®Igd U4, Uid [T 4 HH 8, dl EUCEEELE] 3y 09 s Tl Plog dlgisT | T hlos Qo
is less than pole pitch? winding winding CINEUED] :ITHER?IT%’?
16|What is the purpose of series resistor Limit the currentin | Increase the current [Increase the voltage Decrease the SI ¥l IR U5 WIR A BIIST PIRAY | BT pScll H DHRC | BICST DISA H HRC | PIIA Bl Udhg- H BIIcST pISA H
connected with holding coil in a D.C four holding coil in holding coil in holding coil voltage in holding _\sjé PIGRIEEZEA G%QQ FATZ? P AT B Y a‘rérxraarq Tleedl HH B
point starter? coll
17|Which speed control method of D.C Field diverter method |Field tapping method| Armature diverter Supply voltage Tics SMdeR 191 Thics cuv fafe 3THTR A 11y | 3MYfd dlcesl A=Al
series motor is used for electric train? method control method |D.C ?‘ S| aﬁ%;m wgrqﬁwﬁfﬁ fafdr
HT IUTNT SAfded
2
18|Why shunt field coil is connected in Increase the holding Decrease the Protect the shunt | Protect the motor in [RE tﬁ']c_s’vm PID.CUTSCEIRH | TIST PISA PRC BIICST PISA PRC | RIC Hhits P PXC U | RIC Pics Gl gH Dl
series with holding coil in D.C three coil current holding coil current | field from over case of openin  |BIfCET Pigd o AT Jae & I ST CHIY e CEIY fRufer & Ay &t
point starter? current shunt field %ﬂ?ﬂ Riga
2
19|Why the direction of rotation is changed | Maintain rated speed| Maintain motor Avoid armature | Prevent motor from [D.C THIS[d ATeX T SHTHTR URT = ®I RCS M NG | AICR [aRIVATSA B | 3THER Wldish a1 THIG | IR DI SR Al
only by changing the armature current characteristics reaction effect over loading Faadd Had ‘EI;Uf:T ol femn i sea & Y JTd A
direction in a D.C compound motor? \_rl'l?ﬁ%?
20[Which speed control methods offers Field control method |  Voltage control Armature control Ward Leonard  [SI¥l X€ ACR H MM TTId ¥ =i1d DI REREERIEID] dlecol AU A1 | SMHR MI=v gty | Tiid Hg=0r &f 9t
below normal speed in DC shunt motor? method method system of speed Fﬁ Tifd fogzror faferi uem et NBIEIER I
control %’7
21|Why starters are required to start D.C Regulate the field Reduce the Control the Smooth operation [T H D.C HICH B & I & 1T &3 dlecol &l STHER IRC DI HH | STHTR Uldishdl Bl TRl &1 gare
motors in industries? voltage armature current armature reaction of motors WTeR I I 872 fafaftg &3 B IBRIEGKE RNEINE
22|Which insulating material belongs to Cotton Bamboo Fiber glass Leatheroid paper U™ EIES| TIgsR 1A JHS Pl DI
class ‘B’ insulation? gq I paras el Aot &t & FaTc®
77
23|What is the temperature value of class 90°C 105°C 120°C 155°C 90 T3l A’ 105 TSI ARy 120 TSUT IR 155 TSUT ey
F insulation? ot TG SRR T ATIHH HH 1 82
24(Which type of D.C motor is used for DC series motor DC shunt motor Differential long Differential short ST 94Ul Al Sl RIC HIcR TSHRIRFA AT RIC | TSR RIC RIe
constant speed drives? shunt cortnpound shunt cortnpound ﬁwnﬁrsmés%qﬁwwaﬁ D.C HUNES HIex HUNES HIcx
motor motor HIeR T ITART 33T SIrel 32
25(Which type of DC motor is used in DC series motor DC shunt motor DC differential DC cumulative R g freft 1 ST 94Ul AR S RIC AR Sl TSR SEIGERIEINES
elevators? compound motor compound motor q El Kl i Al qiex
IO {3 Tl 32
26|Which method of speed control gives Field diverter method | Tapped field method| Voltage control Armature diverter ice SFdcx 919 SRERCID] dlecol M0 AT | 3MHeR SRdeR 91
below the rated speed in DC series method method Ty FdE0r &7 B 97 adeT i it
motor? e Y2 T 2 A 1 et 2
27|What is the effect, if a four point starter Motor stopped Runs at slow speed | Runs at very high Runs at reverse Al dg gl aEnl | | Tid 9 9edl § Jec! ISR Iadl &

resistance is cutoff during running?

speed

direction

T YHI §, TR e b SR ¥R foig

TR UfRIY He3ih 872

@ﬁﬁfﬂ%ﬁ@ﬂ?ﬁ




28|Why carbon composition brush requires Increases the Protects from Protects armature | Reduces the spark URIHP WT%UTEFT MR UIAIHAT Y | 3ifd URUT Y 3THR | PRI Ws H Wi
in the armature circuit to operate the starting torque armature reaction from over loading | in the commutator |D.C 4 xR aﬁwﬁﬂ PP f%nz 3R deldl EEIGI %’ P & BT %’ HH HR dl %
D.C motor? segment Hﬁﬁ'ﬁaﬂﬁh'wwwaﬁ
SaRAH T I Breit
27
29|Why series motor produce high torque | Absence of back emf| Load current flows | Armature current | Series field winding [HRTS HICR ToHT 4R & 3RINS I= b JUHUD Bl I q[ST D STHTR HRe 3R _ | HIC] dR & A1 9ol
and speed initially without load? through field winding | and field current are | wound with thick W{ﬁﬁﬂﬁﬁaﬂaﬂ?ﬁ &[T?I'f@ﬁ e 9 qS HC m“rc—s'aa—{aw@?r a7 TEET AR
same wire 87 YaTg gl § ?
30|Why the series field is short circuted at To reduce the To increase the To decrease the | To maintain proper |[FSTRIRIIA HUNSS AICR H L& PR P | URIND YRT ST HH | AR DI Td dgH b | HICX DI Id HI HH | ACRA DI o [a¥
the time of starting in differential starting current speed of motor speed of motor direction of rotation [HY Juft &ﬁ A H‘Q‘qmﬁ 1 fopar Srar AP ﬁﬂ ﬁ'ﬂ;f P D ﬁ’ltf CEIlY WD 1%111
compound motor? 87
31{Which is the most effective method of Static balancing | Dynamic balancing Attached with Plugged with lead  [3{THTR &1 HJlcld B BT JIH YHTAT RREASHNE TIARITS Iga PR I & WY | AT HR HJer &
balancing armature? counter balancing weight balancing a?‘ma%:rm%? RINE 1Y W foar an
32|Which material is used for starting Eureka Nichrome Manganin Constantine LIRS ERISREED DA D gLl CIEEdL A=A PRC TS
resistance of DC starters? ﬁﬂ g arlt &1 SuanT SITdT
27
33[Which DC compound motor is operated |Differential long shunt| Cumulative long Differential short Cumulative short .. SRR |1 RIT Y41 s R [dHgP oY T BERIRPEE
at constant speed under varying load? shunt shunt shunt S SRl HUSS ? E, X B -3
e W Faa fa 9 warerd fasar s
Tl 82
34[{How No volt coil is connected in a three |Directly connected to | Connected in series Connected in Connected in series SREFSENSEIEERNEEL SHTHTR & A1 R[C IS & AT A0l
point starter with DC shunt motor? supply with armature parallel with with shunt field , . _ EISEEEE TR AISIA ]| HAJSTEeN g
armature S Re Hier & 1Y i Uige wiex d
T e BIgd PY IsT Bl 37
35(Which type of armature winding is Duplex lap winding | Triplex lap winding | Simplex lap winding | Quadruplex lap  [[#d U®R &1 STHR dTglST I =AUl ST AU diglst | Cuciad U arslst | Nicied AU digis? | $Tg Wiak oy argls
illustrated? winding fpar T 82
36|Which growler test for armature is Open coil test Grounded coil test | Shorted coil test Shorted SMTHIR & [T DI T ATITR TRI&TT QGall pocll WG | STHH BT IR WRIU | TYUId Hsd WIU | TYURIT PRI
illustrated? commutator test [ %’? TRIEfOT
5
!
37|Which speed control method is applied | Field control method | Armature control | Tapped field speed Ward Leonard  [STl AICR H WA U $WR 3R A GHI REIGEENIGID] SHTHER A0 T8 | U Wics TMid Fa=0 | 918 fedirs id
to obtain both below normal and above method control speed control 1 ad ﬁwﬁ%ﬁﬂmﬂﬁ IBUEWI
normal speed in DC motor? ﬁuam%fﬁaﬁaﬂlﬁo‘mm%?
38|Why commutators are sparking heavily? Incorrect brush Incorrect field Incorrect direction of | Incorrect armature |[HRICCR I Aol THD I DR 381 672 TR BT 7TAd IR | 7TA7d Bics BRI | UM Dl Tad [GRN | TTAd 3THER h-1aR
position connection rotation connection
39|What is the action of the induced emfin | Assists the applied Opposes the Increases the Decreases the  |dd gl D.C HIcX H URd SUATUH Bl AN] dlecs Dl YgrAdT | AN dlecs Dl [A-IY [ 3THTR HRC Bl JgIdl | THIR DR Dl gerdl
a running D.C motor? voltage applied voltage armature current armature current  |fehar ERZIT%? hdl % W‘cﬂ% % %




40|Which motor has this characteristics Series motor Shunt motor Cumulative Differential &Y AlcR H g fa=Ivd1 82 9O Al Tc Al <1 gifTeh Ak | Tadee Tl Alex
curve? compound motor | compound motor
a
41{What is the purpose of resistor Limit current in NVC | Protect the coil from | Protect the motor Protect the 4 Tdg WX H gllesT disd U g TG H YRTAHAT | RIC Fidhe Y PIga | HICR Bl HIaRelts 9 | e Hiove § HER
connected with holding coil in 4 point short circuit from overload armature from short & BT 32T T 82 DI ﬁ?f\&lﬁ@ EEIY ﬁﬁ?‘f\&‘lﬁ?@
starter? circuit
42|Why the D.C series motor field winding To regulate field To carry the load | To keep maximum To reduce the  |D.C_3al AICR DI WIS dlshsT HICI Thics dlecol &l A P B Ao | SMYPTH IR ITA | THIR Uidishadl bl
is wound with thick wire? voltage current inductance armature reaction m%muam—s'aﬁr%? ﬁﬁm&mmﬁ%ﬁm %ﬁ‘l’q %ﬁ‘l’q mmﬁ%ﬁm
43|Which type of speed control of D.C Field parallel method [Field diverter method|Field tapping method| Armature diverter |D.C %adl Al &1 id AU b &3 JHMIR fater it SRIdCR 1a1Y Thics <iud fafed 3THTR SHIdCR 1a1Y
series motor? method UHR dT %’?
L+
A
DC SUPPLY
A
-
44|Which type of D.C motor is suitable for Shunt motor Series motor Cumulative Differential HARAT ARIHT P T B T UHR Bl T[c AR 9Ol AR Tl A Hicx | Tavge gifTe Al
shearing machines? compound motor compound motor [D.C AR B'Q'gaﬁ%?
45|Where D.C compound motors are Constant load Constant speed | High starting torque | Constant speed |8l D.C THI%d Al o1 WUHSB T < AR A1 ad T DI I RIS FATYUl S-S IS
preferred? requirements requirements requirements under varying load Trl'l?-ﬂ%? HIIRG P Y HIIRGh Y HIIRGh Y SARGHATA &
requirements AR fad fd
46|What is the necessity of starter for D.C | Limit the field current [Limit the field voltage| Control the motor | Limit the armature [D.C HIeR & [elY TR B T fTa=Fedl | Hics URT B HIHG WIS dlecol bl TIcR ] d Bl SHTHER IRC Bl
motor? speed current ? P ity & IBRIEGKE ifyg
47|Which type of instrument is used to test Megger Growler Multimeter Ohmmeter S(THTR dATZIS T Dl URIEUT B & [T AR IR HAecHIeR 3fTgHICR
the armature winding? ?ﬂ UHR & UGV &1 YA foar St
?
48|Why the holding coil of a 3 point starter To limit the load | To run motor at low | To hold the handle To protect the |3 TIRC ¥R & BllcSH DIgd Bl RIC, TS DHIC HI JIAd | HH dlecs] IR Al WoR Bl B I Tid J AR Bl
is connected in series with shunt field? current voltage plunger firmly motor from high Biee & Iy mﬁa@rﬁﬁaw%? W%f@m ﬂﬂﬁ%ﬁﬂl qﬁﬁaﬂ%ﬂ T&ﬂ%f@l‘q
speed
49|What is the best method to change the Change armature | Change shunt field | Change series field | Change the current [Tl AT HICR DI TARIATSH o[9[ STHAR YRT GRM dcdl | RIT Hics YR faR 0T Bics YRTTGRN | STHER 3R MC Bics
DOR of a compound motor without current direction current direction current direction in armature and Eﬁﬁ, DOR §&aH %ﬁﬂ ey 33t fafer gadl T Hie Bl U 1Y
change of its characteristics? shunt field together FATZ? gaal
50[What is the purpose of NVC connected To improve the Reduce the field To decrease the | To prevent increase |3 Tdg T} H &7 & 1Y a1 H IS TAYU DI GURT & | BIcS P PHB | SHEMFDBI DA | MdH ? 1 Ab
in series with the field in 3 point starter? torque current back emf in speed TAIIRIT & B%QZI ERZIT%? faq HH %ﬁm fom
51[Which type of DC motor is used for Shunt motor Series motor Differential Cumulative YR HUR & AP HIRd DA D [T TIC AR 9T HIcR TdUGH AN AicH | <l YITe Ay
sudden application of heavy loads? compound motor compound motor 9 JoR &1 S Hiex &1 IUgHT fohar
ST 82
52|Which speed control method is used in Voltage control  [Field diverter control | Armature diverter | Series field tapping [@Tel THYUT AlcY H ooy TMd AV AT | dlecol MU0 [A1Y | Thics SAACR AUl | 3{THTR SRIdCR a1y | 47l & Sl a1
food mixture motors? method method method method BT IuTNT foHan Sirar %? fafer
53|Which speed control system provides a Field control Armature control | Field diverter control| Ward-Leonard  [&1 T Tid THI=101 HUMCH R & AH & T g=m 3THR A0 WIS SICR YAV | JTS-[ergiHTs RieH
smooth variation of speed from zero to system control Y 3 I A BT U M dgard IBREL
above normal? Yald Hdl %?
54|What is the purpose of tapes in winding? Insulate slots Bind the coils Wrap the conductor | Insulate exposed TITCH Pl sYTIC D igd &l 91 Hgacr duc T chsek:%@
conductors - 3:\3@8
EfET § U BT IeT |1 R?
55(Which type of DC armature winding the Lap winding Wave winding Progressive winding |  Retrogressive REEIEE EEEIER BPISEEIEE ReRIg drgis
front pitch (Yg) is greater than back pitch winding .
F 5 UBR 3} SRt SR the R

(Ye)?

@STH) G i T @sa) ¥ sifie 52




56|What reduces the cross sectional area Dynamo sheet Low alloy sheet High alloy sheet | Normal steel sheet SIH! >l HH Y YT P IR | I WY YT Pl AR | FTHINI LI ”iIe
; - 5
of core material for VA rating~ o X % g BR I % B
JRAT &7 B TN HY HT 82
57|How to obtain opposite polarity in Varying the number Making series Making parallel | Making current flow |4 Yd SI-l AleX H A Ydl H [AWRId Ped %Hldl G DT DI Yol Plgd P JHMIR ENECHEERD]
adjacent poles of a 4 pole DC motor? of turns in coil connection of coils | connection of coils [ in different direction gam%o—émmﬁv T [ dqd-l IS ST LEISERCEIE fe=m & g9
58|What is the operation in the rewinding Cleaning of slots | Removing of winding|Removing of wedges| Cutting of winding |RaTgis™ Uichdl | g TohdT T 52 Qrd] Dl Jhlg CINEUIECARE] doiol Bl M dTglS dR Plc
process? wire
59|Which insulating material used in Empire cloth Triplex paper Millinex paper Leatheroid paper [dTgis H YT ! SIF dTa] I Il THRR $US] e UmR e TR THG BT BRI
winding is a highly non -hygroscopic and WW 3D TR-
possess good electrical strength? g jl g Ueh(TH 7 TRaA aTe) § 3R
3t fagga ey Tt 82
60|Which type of armature winding is Triplex wave winding [Duplex wave winding|  Progressive lap Retrogressive lap [T YPR i HTHIR dTSiS T P1 (<=0 [eUcio dd dTsist | SgUciad dd dlsistl | WdRId od digrs ™ | RSMIRId U agls
illustrated? winding winding frar mar 82
61|Calculate the average pitch (Y,) for 4 6 8 14 REFIRIG dd dTgls T o 1ot 3Id U 4 6 8 14
retrogressive wave winding, if (YA) 1 TUFT Y, TFE, 3MTHER Hgae
No. of armature conductor = 14 aﬁm—u Tile &1 4-1=7, ga‘ra%’r
No. of slots = 7 JLAT=2
No. of poles = 2
62|Which type of test is illustrated for the Open coil test Shorted coil test Voltage drop test | Grounded coil test [UTd&d & dI¢ 3THR o oY [hd UDR ol poall I | AYUIAd pod WRIU | dleedl 91U RIGUT | T3S S bigd URIGT
armature after rewound? CARRAEIECRE I RILI %’?
'§
63(Why the newly rewound armature must Drive out the Help for quick drying Make easy to Maintain uniform [T ¥ Tgdl TU JIATSS SMHR Bl SO TH Bl eX | ATHR] & akd J@M | 3G aT-=1 g aM-RRT & FHA
be preheated before varnishing? moisture from it of varnish penetrate varnish spreading of TRY 0 fopan ST %rr%Q? IECIK] & fQ Aeg SINIBEEIY TR &I EEIY ReG|
inside varnishing
64|How the direction of rotation of a DC By changing the  [By interchanging the | By changing the By changing the [STIl HUT3S HICR & YUIH &I [GRM b | 3HTHIR YRT DI [GR 3MYfd cli-e 1 | & 3R ATHTR a1 | JTdl & Dl URT Dl
compound motor is changed? direction of armature | supply terminals direction of both direction of series |sicel! STl 82 EFNERS I IR CANERIICAER R §aeadR
current field and armature field current
current
65|What is the effect in a D.C shunt motor, | Runs in slow speed | Runs in high speed | Runsin the same |Runs in the reverse [SI 3] ¢ AR ﬁwqmm% qig el a9 aedi s | dol IR A daidl @ | Uh ol [GRITH Taldl & | Secl 16N A Iadl o
if its supply terminals are interchanged? direction direction ELSE | 31Tqﬁ P MUY & ggd
fear sman g2
66|What is the speed, if field winding of a Stop running Motor runs normally | Runs at slow speed | Runs in very high EIT?@WQTG Hic Dl Bics st U [ I 9G gl ORI | AR I U | S Mid A Iadi o | dgd ool T1d H dadi
DC shunt motor is in open circuit? speed iche & g1, o Tfa 1 872 I g g




67|What is the reason for reduction in Shunt field current | Shunt field current | Armature voltage | Armature voltage %ﬂﬂ-ﬂ?@{lﬁ’r‘l—ﬂ?ﬁ@m% AR Bl | RIC Thits PHc 9adl 5| WIS dc dedl g [3HTHIR dlces] U 8¢ | 3HTHR dlceo
speed of a D.C shunt motor from no increases decreases drop increases drop decreases WﬁWWW%O Gl'l?ﬁ% EbTrB-TGﬂﬁT
load to full load?

68|Which winding fault is determined by the Open coil fault Short coil fault Grounded coil fault | Grounded core fault Qe psall aly AYUIId oA aly | T3S S Phigd BicT UY3S BR Wlee

test?

ELzcion

I 1 dISlS T &y 99 WRI&UI §RT I
ﬁ?mems%?




Name of the Trade - Electrician 3™ Sem - NSQF - Module 3 - AC. Three Phase Motor

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the formula to calculate the slip speed  [Ngj, = N, -N, Neip = N, N, Ngip = Ns -Ny Ngip = Ns —Nr 3 Bl R} ol IRUT AR DI RAY A [Ngp = N, -N, Neip = N, N, Ngip= Ns-Nr  [Ngpp= Ns-Nr A 1
(Ngjip) Of 3 phase squirrel cage induction motor? Nr Ns (Nslip) aﬁmwﬁmﬁaw%? Ny Ns
2|What is the type of control circuit? Inching control ON remote control | OFF remote control | Forward & reverse [AT=01 Yihe T UbR T §? ST A AT deld IR XAl ®id dg 3T 3R Rad A 1
control IBREL
1 . KJSA - E }
L@ |
3|Which formula is used to calculate the total Total electrical Total electrical Total electrical Total electrical ACHIR XX A A [degd sl &I | o fdgqd fsdl = | Paldegdledi= | paldegd sl = | pafdegalsdi= | D 1
electrical degree in stator of an A.C motor? degree = 180° / No. |degree = 180° x No. | degree = 180° / No. |[degree = 180° x No. WW%WW@WWW 180 ° /wﬁ 180 ° xwaﬁ 180°/ %@aﬁ 180 ° x ij,?ﬁ?ﬁ
of slots of slots of poles of poles GI'IHT%? R3pE2]l T qEAT g1
4|What is the name of the A.C motor starter? DOL starter Auto transformer | Semi automatic star |Fully automatic star A.C AICR WX BT TH HT 5?2 DOL ¥R 3fCI BT | 3¢ Waleld R | YUl Wallad TR B 1
starter delta starter delta starter IR ST WY ST IR
;
5|What is the formula to find synchronous speed |Synchronous speed =| Synchronous speed |Synchronous speed |Synchronous speed | Tl 3 &dl URUT HICR DI JeddbIicid Md | JedobIleld Tid = | Jedolicid Md = | Jdblcd TMd = | Jedoblleld id = A 1
of a A.C 3 phase induction motor? 120F = 120p = 120 = PF T A BT A T 82 Lo Lo0p 120 PF
s F PF 120 P F PF 120
6|What is the fuse rate to run a 10 HP three phase 10 A 15 A 25 A 30A 0l A8 WR 10 TUT diF el UR0T HIeR 10 A 15 A 25 A 30A C 1
induction motor at full load? AN & N W R T 82
7|What is the name of the contact marked as ‘X'? Star contact Delta contact Auxiliary contact Over load relay | TU% 1 TH R 5 o 'X' b U H &R TR I4P Secl Ub Tedh U | R dls RAIUPH| C 1
contact mar
[
T Sz K1
T ‘E |°|=|= 2 3 % 85 al b
B
|SJ74 g
8|What is the type of A.C motor stator winding? Single layer basket | Double layer basket [ Involute coil winding|  Diamond coil ACHR LR ARISTHI ISR R ? | R R SRdbc | S99 R IRDbC | SfIcd Pod dlRlsT| TRIPSAARIST | A 1
winding winding winding
SEESEESEEE
— e -_— §
9|Which formula is used to calculate percentage TII 3 Dol S8R HleR ol UIdRd [Rag ol A 1
slip of an AC 3 phase induction motor? Ns=Nr 100 LN‘SNS X100 Ns-Nr 100 Nr—Ns 100 mmmﬁ%mm%ﬂgmmﬂm Ns—Nr . 100 NrN—st <100 NSN_Nr 100 Nr’\INS 100
S r r N RI H S

r

r




10|Which operation the control circuit is used? Remote control Inching Sequential control [Forward and reverse| AT WWEEH%FF[ H IUT T [¥ATe dheld gl 3Ich1HD AU 3T 3R U
IIdr g?
L11 sToP SR, mH E
T "
JM‘j‘ *
:
11|What is the phase displacement between 90° 120° 180° 360° 3 Tl HIcR H dAI3ISI & §id Bl [T 90 ° 120 ° 180 ° 360 °
windings in 3 phase motor? ER?IT%?
12|What is the name of the part marked as ‘X'? Shaft Brushes Bearings Slip rings TR TIigd HITT &1 ATH T 52 e ER] SRIpEeE ey 1’
%
13|What is the name of AC coil winding? Half coil winding | Whole coil winding | Single layer winding Double layer AC ®I3d aTsISTT BT R ATH 5?2 MYTped arsis’ | R pod digist | RITTA AR AlgisT | Gl URd dTsis
winding
14|What is the name of the coil winding? Concentric coil Distributed coil Mesh shaped coil Diamond mesh HScll dIglsT &I TH HT 8?2 HIUICH DI I9dIRd p&d ST STHR DI HiEIEINED
winding winding winding shaped coil winding CIRR CIHER PHed drsfeT 3HR P psl
argfem
MW, SW; MW, SW, g
15|Which speed is called as synchronous speed in No load speed Full load speed Rotating magnetic Relative speed | 3 &l URUT AICR H [y T Bl JeADIIeIDh I HR Td PAddle We | JaP A DI TId | L AR AR P
3 phase induction motor? field speed between stator and T T ST 872 Cal ‘QTH?T gl CICKSIECRIIRG]
rotor
16|What is the name of the starter symbol? D.O.L starter Auto transformer | Automatic star/delta | Semi automatic IR Udleh &l ATH T 57 D.O.L ¥R 3fel SBIHY leld ¥R/ | 38 Wdifeld ¥R /
starter starter star/delta starter W SR ST TR
O
17|Name the part marked as ‘X’ of the winding Mandrel Wire feed Wire guides Spool carrier aTSISTl HRIM & HIT'X' Dl [digd BR? WRIG DT YR R BT AR] AR TS S REIRED
machine?
18|What is the electrical degree of 6 pole stator of 360° 720° 1080° 1440° 6 JId ¥ cx AR i [dgygd TSUl 1 82 360 ° 720 ° 1080 ° 1440 °

motor?




19|Calculate the number of coils per phase per pair 1 2 3 4 2 4d, 24 9@, 12 aTd 3 el AR & 1 2 3 4
of poles of 3 phase motor having 2 pole, 24 ﬁ?ﬁaﬁﬂ'@:ﬂ ﬁv_\rﬂ;ﬁtﬁ?ﬁmx_ﬂ S
slots, 12 coils? DI TUAT B2
20|What is the name of the starter symbol? Star delta starter Rheostatic starter | Direct on-line starter| Autotransformer TR Udlh T ATH R 5?2 LRSEIWR | WERICPH LR | T A AR [ SMCISRIBIFR Llex
starter W]
21|What is the formula to calculate pitch factor? Pitch factor = Pitch factor = Pitch factor = Pitch factor = O PRSP Dl TUHT HRA DI I R 5?2 o BRS = o PRSP = 0 BR® = g dR® =
Pole pitch Winding pitch Number of slots Number of poles Pole pitch Winding pitch Number of slots Number of poles
Winding pitch Pole pitch Number of poles Number of slots Winding pitch Pole pitch Number of poles Number of slots

22

How pole pitch is measured in terms of slots in
AC winding?

Total electrical degree

Number of slots

No. of slots in the stator

No. of poles

Uid disiet o] G4 disiei | Wiic & 4ay
T S HIUT ST 87

Total electrical degree

Number of slots

No. of slots in the stator

No.of poles

Number of slots Total electrical degree No. of poles No. of slots in the stato Number of slots Total electrical degree No. of poles No. of slots in the stator
23|What is the formula to calculate the mean Lm =L, L, CM L =L, + Loy €M Ln=__2 cm L= 2 cm | BIIA D HIARIT DI A IA DI | L= Low B | L= (X [ Ln= PRG] Ly = 2 4H
. . ou in L out — L n —_— in ou! — -
circumference of the coil? 2 2 L Loy FTR? 2 2 Lou —Lin Lin+Lout
24|What is the synchronous speed of a A.C 3 800 rpm 1000 rpm 1200 rpm 1440 rpm 50 sérrraﬂ dTd A.C 3 &l 800 3RUTH 1000 3RUTH 1200 3RUTH 1440 3ARUTTH
phase induction motor having 6 poles at a TF%EP:IT%‘?
frequency of 50 Hertz?
25|Calculate the percentage slip in a 3 phase 2% 3% 4% 5% 3 Bl 38R Al H HIaRId %4 il 2% 3% 4% 5%
induction motor having 6 poles with a frequency TUET aﬁ: S/ 50 'E!ZYGT Gl & T 6
of 50 Hertz rotating with actual speed of 960 ¢d 81d 8, St 960 mﬁmnﬁ
rpm? & Ty ‘agqa g2
26|What is the rotor frequency of a 3 phase squirrel | Equal to supply 3times less than | 3times more than | V3times lessthan | 3 &dl &l [HA ol URUTHICI DI AU | 3TY[d I MgRI & | MY RT3 | MY[d mﬁ 3 CHRICINR
cage induction motor at the time of starting? frequency supply frequency supply frequency supply frequency Gﬂ?ﬁf Eal %? RTR AT eH %’ AT V3 AT HH %
27|How the voltage is received in the rotor of Direct connection Due to back emf | Direct connection to | By the transformer |S8aRIH HICR o e H dlecsl HY Ul gldl | LR YT IIY | W # Ided 3YId I AR BT E‘ET 3R AR Bl
induction motor? from stator produced in stator rotor from supply | action of stator and %9 I G Tter day mmm
rotor HRUT
28|Which method is applied to control the speed of | Cascade operation | Changing applied | Changing applied Changing the 3O U4 I 3 PLhs JATA 3R dlec o SRITUG I A [Ydl T T Saal
3 phase squirrel cage induction motor from its voltage frequency number of poles e’ ?ﬁ"ﬁﬁﬁﬁﬁﬁ ﬁlﬁﬁ??ﬁ EIEFN%T% R
rotor side? faftr SmRifta ot et 82
29|Which loss of 3 phase induction motor is Copper loss Friction loss Hysteresis loss Eddy current loss | 3{@¥ X WRI&UT gRT 3 el URUT HICR BIR B BH Oyl BT R RN gIi° HaR YRT BT
determined by blocked rotor test? mﬁmwﬁa’rﬁa%w%?
30|Why pre heating is necessary for motors before | To dry the varnish To easy flow of To increase the To drive out the | RATSTST UTehdl H AT ¥ Ug] AICR & [ARIST H AR ®I |ARISTH AN & | THARA TRIY  [ATRIST URdl & didl
varnishing in rewinding process? quickly in winding varnish in the insulation resistance |moisture in between forg ot gife ot srawas 87 Seat ¥ ﬁ@ﬁ% 3 JaTg & forg T G?ATFAI Ffau | &9 & ER
winding value winding layers fem ﬁaﬂaﬁés%q
31|Which type of test is conducted using internal Ground test Polarity test Continuity test Short circuit test T AR dISIST H 3RS AT3eR Bl T3S o $adi e TR =T TRI&mom TMIc Fidbe ¢
growler in AC motor winding? JUANT b [ UBR BT TRI&T fosa
ST 82
32|Which device is used to test startor winding short Tong Tester Internal Growler External Growler | Digital multimeter WCICR dIgiST R 3R 3T Tiec Bl I RIS 3RS ATIeR EIRIPIEEN fefoied HedialieR
and open fault? uﬂwaﬂﬁﬁsmmmmm
T e 82
33|What is the purpose of using thermal cutout in Protect from heavy | Protect against high |Allow for continuous |  Protect against A.C AR |idhe H WIS & Al YA | HRI HR U IET DR | BTk dlecol ¥ 9919 [TAR SR AlST | Jd M Hidhe H
addition to fuse in A.C motor circuit? load voltage over loading dead short circuit | HTITIC BT ITANT B BT G%"«’q FTR? Gy Gl &HQﬁf 2 EEIY
34|Which type of motor is used to provide high Universal motor Permanent 3 Phase slip ring 3 Phase single uRaldd Md IR 3= URIHSD B gHadd AR | WA IYIRA AlCY | 3 Hal RAU AT |3 Hal Uobd [epral
starting torque at variable speed? capacitor motor induction motor squirrel cage P & o ford JPR Bt AR HT IUTNT TRUT AleR & IRUT Hiex

induction motor




35|What is the relation between torque and slipin | Slip increases torque |  Slip increases Slip decreases Slip decreases  [A.C TSR IR H JARUISHR Red & o SSEEFRE) SSEEFRE Reggea ¥ g ge 9
an A.C induction motor? decreases torque increases torque increases torque decreases T HIY &7 EIT*IT‘Q:UTEIE‘CIT g Wﬁﬁ g WTEI;UTEET'IT g
36[What is effect of A.C induction motor if rotor bar | Vibration of shaft | Motor will not start | Runs in slow speed | Over heating of |3l Ial Flhe HAR TR AN A.CSSRHE | WU BT HUT | HICI = Aol oI | UHI Tid H Icdl & AR & TATH 814
is in open circuit? motor HIeR BT T YT Bial 82 R
37|Which type of wire is used for rewinding of A.C Super enamelled PVC covered Single cotton Double cotton A.C 3 ol AR & RARIST & [l [l | YR TIHS IR | UK PR dld | R HUH R | SIA HUN Dav
3 phase motors? copper wire copper winding wire | covered copper wire | covered copper wire UHR & dR Bl [ERIRIGI] %? drR TRET IR DU dIIR GIEE IR
38|Which material is used as wedges in winding Empire Cotton Bamboo Terylene qISST Uishdl H duisl & =4 H [y JTHUl THRR HU™ EIG] oI
process? P IUANT [ ar ST %‘?
39|Which test in winding is essential before giving Ground test Polarity test Open circuit test Short circuit test | 3TT[d G ¥ UG AIZISIT H DI AT TRI&UT T3S o glaiRel e 3{U gicbe <& TMC Yidhe <&
supply? I 82
40|Why the rotor bars are mounted in a slightly Generate maximum | Reduce the stray | Maintain the rotor Produce more RICR ATAD! B 3 Hal Al § YTel [RST | 3 dd U™ LM PADR | ARTMABIRR | 3D FHA AR
skewed position in 3 phase motor? flux losses speed constant uniform rotor field fufa & oz Gl'l?ﬂ%? I B CEIY o REREIRS a?lggﬂﬂ
and torque JdlaA
41|Which loss is determined by no load test of 3 Iron loss Copper loss Friction loss Windage loss 3 Bl SSIRA HIcR & Al AlS ¢ I pIH RIEEIE] GIERIE gy BT ag g1+
phase induction motor? It g1 Freffea gt 32
42|Which method of speed control two variable By rotor rheostat | By changing applied | By changing the By changing the | 3 &l HICY T 7TId &1 MATAT B Dl DA JIeX R3fCe SRITUT g | 3MRITUd dlces Dl | TR Ydl Bl AT
speeds only obtained in 3 phase motor? control frequency applied voltage number of stator ?ﬁﬁﬁrﬁma‘rmnﬁmsﬁr%’? [ERELEAR EENEEY EINEEY P ISAD
poles
43|Why slip ring induction motor is fitted with wound | To reduce the slip | To control the speed |[To reduce the losses| To get high starting | eTT R SSRM A1 B AISS AR A R | 1T HH DhAl T &1 FaEd AP PAD | I WiieT 3R
rotor? and running torque ﬁb_c'mﬁl'l?ﬂ%? ?:Iv_ﬁa?ﬁﬂf %ﬁﬂ Tﬁﬂ@ﬂ%ﬁﬁ%
44|What is the function of timer in automatic star Trip at over load Switch ON at pre | Change from star to | Switch OFF at pre | Falield ¥R Secl W H TR BT SR | AR A8 W Iy [Jd YR ¥HT W | TR ¥ Seel H 9 [gd MUIRG 970 R
delta starter? set time delta set time 8?2 ﬂ'@ﬁ & 3ife B
45|Which instrument is used to measure insulation Megger Multimeter Shunt type Series type 3 Dl URUT HIeR o gaRM UIaRIY Dl TR e AR Tc C1gU 3{igHic? |90l UbhR ATgraleR
resistance of a 3 phase induction motor? ohmmeter ohmmeter W%ﬁﬂm@qﬂ%mmmﬂm
SIdl g2
46(Which test in winding is illustrated? Polarity test Ground test Continuity test Short circuit test aTSIST | I AT URI&0T A< 572 adl <& IR TR ARl TRI&T0T TMC Yidhe <&
47|What is the starting current of an A.C 3 phase 1to2timesof full | 2to3timesof full | 4to5timesoffull | 5to6timesof full | A.C 3o S8R HIER B YRIHD B |JUI HR YRT BT 1 ¥ [JUI HR YRTHT 2 F [J0T HR YRT D14 H [JUI HR YRTH15
induction motor? load current load current load current load current FATE? 27T 3TAT 5T 6 AT
48|Which method is used to control the speed of 3 |By cascade operation| By rotor rheostat | By injecting emfin | By changingthe | ¥cX U8 U 3 Il SSRM AKX DI | H¥hS HTURRM IR R3ARCC IR e H SRITYd 3MgIRT
phase induction motor from stator side? control rotor circuit applied frequency ﬁﬁﬂﬁﬁﬁ%ﬁﬂmﬁﬁmw GRT [EREER ﬁ'QTIECF 29IdC hIch dgcid
fopa ST 82
49|What is the speed control method of 3 phase Cascade operation Rotor rheostat Changing applied Injecting emfin [ 3 P IRVT IR DI Mdl IV 118 H &2 | p¥bs Hala [aid | e R3fke SRIYd dlecs | AR Hldbe [aId H
induction motor? method control method voltage method rotor circuit method gz fafy dad-r fafar EFQTI'@? 3@31‘&7{
i ‘ ey
e
g
50{What are the two functional circuits incorporated | Open circuit and Closed circuitand | Short circuitand | Control circuit and ¥ Sl HIT e} & Y RMHA & IO Hibe 3R | AN Hiove AR | IC Hihe 3R | A0 Hiahe 3R
with a three phase motor starter? short circuit open circuit closed circuit power circuit Frafds Jihe 71 8? e gfdhe 3T gidhe FdS gide IR gfhe




51|Which is the main property of leatheroid paper Non moisturized Highly non- Very good for class | Better ageing and | TcRIgS UR SYARM BT A U D AT | TR AlGERISS 3fYD TR- J0 TP SYARA_ | SgaR Qo 3R
insulation? material hygroscopic F insulation dielectric strength %? et mﬁ? G %IE ggd 33T %’ d fad
52|Which type of insulating material is selected for Cotton sleeves Empire sleeves Terylene thread Fibre glass tape | $8d 3fR 3flaR &1 1Y & [el vl THR ol Tiioq THORR Witod UG HISeR W ¢J
binding the coils and over hangs? P sﬁa ST ATRAT T =9 fohar Sirar %’?
53|Which insulation is used for cuffing in AC Fibre glass tape Leatheroid paper | Empire fiber glass Fabric based T AISISTT H DI o [T fhd SR ISR A g THG B BRI THRR BIgeR DU WR YR
winding? tape adhesive tape BT JUTNT T ST 82 N <Y g aren g
54|What refers coil in AC winding? Number of turns Number of turns Number of turns Number of turns T arSfed ¥ dhied ®l H had 82 i \_{]3 gHal AR ﬁg‘g" E'T JaH ‘Q,GT Ed 31 : D
connected in series |connected in parallel| under two similar |under two dissimilar B I=AT gma‘r DI =T iRt ‘{FITCﬁ D Gi?leﬁ. Cdl
poles poles =T qST
55|Which type of AC winding the number of Involute coil winding |Diamond coil winding|  Flat loop over Flat loop non-over |Tdh¥ U®HR &l THI ATSIST DI TATHA YA R | 3P Pod dlslsT| oRI P dlslst | TS ARIST IR | T U AM-3HTaR
coil/pole/phase is more than one at different lapped winding lapped winding | St / UId / el BT ST U & 4 g2 qa o TR
pitches?
56|Calculate the number of coils /phase/ pole fora | 3 coils /phase/ pole | 6 coils / phase/pole | 9 coils / phase/pole |12 coils/ phase/ pole| 36 ¥ICH, 36 DIz 3R 4 U AT AICX |3 DIzl / Bl / Ul |6 Disd / Hal / Uit |9 PIgel / el / UId | 12 DIl / Hefl /
3 phase double layer distributed winding for a f31q 3 el Seret TRl fadRal argfeT & LI
motor having 36 slots, 36 coils and 4 poles? %QWE%H’@;%W / O 1 0T
?
57|What is the type of rewinding process? Hand winding Skein winding Former winding Machine winding RATSIS UlchdT T UhR =T 5?2 B I Ul IS dIgisT IR ATl HRIF drgle
]
58|Which type of starter is used to start and run the | Direct on-line starter |  Rotor rheostat Auto transformer | Manual star-delta | 3 Tol ReTT R SSaRM HICR Bl Y& DA | T A AR [ A RARCC TSR | I TRABHER | HI3HA TR-Seel
3 phase slip ring induction motor? starter starter starter 3R T & fou ford TR & W &1 TR TR
SUIRT 5T oITT 872
59|What is the function of collar? Provides insulation | Provides insulation | Helps tightening | Provides insulation PHICR BT B T 5?2 FAD IR AR | PSACUI D [ | HPc gUIBAR & | $SA U SV
around field for coil tapping material for flange for heat transfer 4RI Ual YR Yal- i YR & ﬁ*ﬂ;f
from coil FXAT & FATE AAGEIRATE | TYORH Y&
BRI T
60|Which type of winding wire is used to wind PVC covered type |Terylene thread type| Super enamelled Double cotton T8 JHR & AT dR $I GeHNSGA U0 | TN SR UPR | RAH YIS THR | JOR TAMHCS Cl_y | 9 el Hax
submersible pump motors? type covered type ﬁ?ﬁaﬁaﬁﬁﬂwgmwm UhRR
SIIdl 872
61|What is the reason of long chord winding is Low efficiency Low starting torque | More winding wire Less heat T AICR] § ddl Pls dIglSil - B dl R HH &l HH YT JATYUl| 3HieD dlsIST AR | HH THI AgTg
avoided in AC motors? required dissipation PRI E? P ARG Dl
62|Which type of winding has more space for Between Between Between Between AT » [ [PI PR DI disian T [ aRG RN Digd & | HARGFF hled | ARelT disd | Mgl hlgd
cooling? overhanging coils overhanging coil overhanging coils overhanging coil 3P ST %’? G ARIR P 3R Tp & § R IV F S
and rotor and yoke and wedge
63|Where the panel boards are used? Industrial motor Domestic wiring 3 phase domestic |Load distribution for Ud dle Pal YT [T Sld 82 ST ACR $8d| T AT Hicbe | 3 hal TR aART | THI 3R ST
drives circuits wiring AC & DC supply Hqﬁa?ﬁfq KIS
faaro
64|Determine the torque in newton metres 21.63 Nm 24.4 Nm 33.05 Nm 36.6 Nm 1440 rpm WX R IG 7.5 HP i%eb(cl. 21.63 Nm 24.4 Nm 33.05 Nm 36.6 Nm
produced by a 7.5 HP squirrel cage motor &S Al gRI EFITEEUf?QE:T S g |
rotating at 1440 rpm? T B2




65|Which type of handle design of rotary switch is Knob Lever Coin slot Key operation |31l I & fhd bR b Tgollg- ol i sl RS INES R BT Tlic ERIREINE]
illustrated? T:I'Uﬁ%EITTRIIT%?
:
66|What is the purpose of using rotor resistance Reduce rotor voltage | Reduce rotor current| Increase the torque | Reduce the power | 3 Hdl KU YT 38R HICR IAD [ dlecs] PH PR | AR IRC P/ HH | ToTY0l B 9gIY | TaSIcll dI HHI DI
starter to start 3 phase slip ring induction motor? loss T%‘I'Q e UfeRYY TR &7 P BT N HH P
I 172
67|Which method of speed control is only Cascade operation Rotor rheostat Changing the Changing the i A0 D1 S i 1918 HId 3 Hell D | Db s Harer [d1¢f | e RSMCC A | ARG SR IA1d | WeR Ya 1a18 DI
applicable for 3 phase slipring induction motor? method speed control applied frequency number of stator feau 1 Seavm gier & forg SiRifua IGRELI DI FaT AT BT Fean
method poles method %’?
68|What is the name of the winding? Skew winding Skein winding Involute coil winding Diamond coil drsied] &l ATH H1 g2 CIEIEE TDigd diglst | Slicd pod digls’| BRI pod dlglsT
winding
g g
i
69|What is the name of 3 phase motor winding, if Full pitch winding | Whole coil winding Long chorded Short chorded 3 Hdl HIcR dIglsT &l A1 1 8, Tl U U aEisT | WPpsadsiet | Adl hles digistl | c HIos alsiST
the coil pitch is less than pole pitch? winding winding ﬁ?ﬁﬁ?{@ﬁﬁ?{?{m%’?
70[Which is the demerit of 3 phase concentric More space is A stepped formeris | More difficult to ltis noteasyto |3 Pell Hehlsd ATRIST DI HT DH A G? | 3NYD G Pl | TP WS BPIFR DI | HIS™ DI JAM_ | 3Hd BRI I
winding? required required shape the coils make the end TIIHT & AOWHATE  |[FUINMBRIAP | AHTS 8
uniformly connection ﬁﬂ 3R 3fp
CateEl
71|What is the name of the diagram used for Ring diagram Development Coil connection End connection  |3phase AICR ATgIST & [olU Uad 3RG &1 | ST Bl 3R fdhr 3R P PR | 3 HARM ARG
3phase motor winding? diagram diagram diagram T 1 82 ARG
'A' PHASE T’I*E& &7*12? T‘IS*‘IB& &157Wt
'B'PHASE T5710¢ ‘11*16? T17722¢ ¢R74t
'C'PHASE &97“T T15*m¢ ¢2|7ZT T!*E& g
72|Calculate the phase displacement in terms of 3 slots 4 slots 6 slots 8 slots 3 W 36 w 12 W '4 i ¥} ex 3 IS 4 HJIC 6 I 8 Wl
slots for a 3 phase, 36 slots, 12 coils, 4 pole aEfET & fou wre & ?Fc{“-f T oo fawImgT
stator winding? P IO B2
73|Which type of AC motor winding having the Basket winding Concentric winding | Distributed winding Concentrated DI/ UIA / el DI T El'l?TQﬁTi—llcg ACRICIEEU Tobigd dlslaT fadivd drsta TUHR dlsia
number of coil/pole/phase is more than one winding TEfET fFPT TR & STCH]-S{CIT ¥l e
arranged in different slots? Hafd fﬂ?f %?
74|Which type of testing of winding is illustrated? Polarity test Resistance test Short circuit test | Voltage drop test | dIgIST & [y UbR b URI&TUT Bl =01 $adl e UTaRTY TRT&0T TC Jiche e | dlccol g1d I
forar T 82
1 m , ™
T
N Wit g
75|Why external resistance is included in the rotor | To get high running | To get high starting | To reduce the load | To getincreased | ¥TICT H I Hive H aTexI WRIY DT 3 | I AT S0l I URIYS TS BHRC Bl HH HHE A IA
circuit at starting through 3 phase slipring torque torque current speed at starting WWW Hiex WIR & HIeqH mﬁ%ﬁ«m WWW Tb‘@f%ﬁﬂ CaRUGRCILS]
induction motor starter? @[mﬁwmw%’? %1%111 W%ﬁﬂ




76|What is the effect of motor, if the rotor windings Will not run Runs at slow speed | Runs at very high | Runs but not able | Tfe U R S8R HICR H e ARl EHEGH JAITMA U I ¢ | Sgdas Md ¥ [Terdl g, b g
in slipring induction motor is open circuited at speed to pull load Eﬁqﬂm{ﬁ Tfd WGHT-IT% Hiex &1 ﬂﬁ?ﬁ% @ﬂﬁﬁﬂ&lﬁﬂﬁ%
starting? TS T BIal 872

77|What happens to a 3 phase induction motor if Motor runs normally Motor stop Motor runs slowly, Motor runs with | T1c T el I & GRIH [dhd gl Sl & | Al IHI XY J | AleX qRd dg dI | HleX YR-UR Teddl | Alex if=afad Tiid
one phase fails during running? instantaneously finally it burns irregular speed Al 3 T URUT HieR BT T &Il 872 Ferdl % SRRFR oA J T §

STt B
78|What is the effect on 3 phase induction motor if | Motor stops at once Motor will run Motor runs with Motor will run slow |TIS & ATY Te & GRM TP DAl He-3h (AR Th IR H IP (A AARI U Y | AR YHIMd &6 | TR YMHETd I
one phase is cut-off during running with load? normally humming noise with | speed but winding M R 3 HAT T8RM HICX W AT THEG S ® Ll Y T:JFI":J?{ IRD WW'@@
slow speed will be burnt out USHT%? ?ITUT*KTETT% Eﬁﬁﬁ?ﬂ%ﬁﬂﬁlﬂ
shortly Nl
79|What is the defect, if starter with single phasing Improper phase Fluctuations in line | Loose contact in Wrong terminal | Thd ® e 19dex o A1Y TIeR A1 Aol | Jrd bl shH e dleeol 4 SfTfd argl | TR W Tad
preventer does not switch ‘ON'? sequence voltage supply lines connections at Bﬁ R TN %”7 JdR-deld CHNIRRISES T T
motor

80|What is the defect in AC 3 phase induction Wrong motor Wrong starter Open circuit in rotor | Partially shorted | TS 81 UX THI 3 ol SSRM HIEX H HH | AT HICX HHRM | TTeld LT HaRM (IS ARIsTH Jal | TR dRISTH
motor runs at low speed if loaded? connection connection winding stator winding T W I & S 1 872 gfdhe Uy

qquY

81|Which fault condition thermal overload relay Short circuit Open circuit Over current Under voltage &I Il g RYTd H YHd MIHR R A.C TMC Yiche QG URYY STAURT HH dlce o]
protects A.C induction motor? TRUT Hex 1 & BT 872

82[What happens to the rotor of a 3 phase induction | Rotor speed reduces Rotor speed Rotor speed Rotor bars get 3 Hdl 3SR Al B AR AR PIMAPAT! | ARDITMA TG | A DI NG FHF (IR IR &G 8
motor if its speed attains to synchronous speed? increases remains same damaged WW HIGE:Q Wgﬁi[ﬁ%a?ﬂ % qIRAeR iG] % ST %‘ &4 % ST %

Eakcll ?

83|What is the effect of open circuit in rotor of an Motor does not start | Over heating in | Excess vibration of | Motor runs with SSHRM HICR & R H G Hlobe DI | HICY JR ol oidl | HICI H SH[AR Bl | RMUT BT AR | AICR Igd o4 Md
induction motor? motor shaft very low speed TG §IdT 87 %’ wUq I It %

84|What is the reason for frequent blowing of fuse Improper earthing Over loading of Heavy voltage Poor insulation in AR & O IHY a1 & d1G TSl b ESiEcEIRR TR ] 3ffa” HRI dicedl 3dR- | dgisT H TR
after motor running some time? motor fluctuation winding AR 384 WWW%’? ISR deld

85|What happens to a 3 phase induction motor, if | Motor runs and stop | Motor runs in slow Motor runs and Motor continues to | 3 al IRV AR HI AT I &, TR TP | A Iadl & AR | HAIC AR UMHT | AR Fefdl g SR _ | SHAHI Td d
one phase fails during starting? immediately speed continuously | draws more current | run with irregular Hl R 81 & SR fawd 8 ST 872 qRAPD St ® e A Tadrs | Sife yRT Siad 8| Hiex gl I8t 8

speed

86|Which is the cause for the 3 phase motor starter | Incorrect fuse ratings | Unbalanced line | Incorrect settings of | Improper phase 3 Thol AR TR DT T Wl [UdcR & TTeTd TRt ST 3Jicid @g | OLR I 7Tad | | 3fJd beall hH
with single phase preventer trips frequently? voltage OLR sequence Y IR-dR E’q BT BRI B T %? diees

87|What indication denotes the shorted coil defect | Hacksaw blade gets | Rapid vibration of Hacksaw blade Attracted by the | 3 &l HIcR TR dI5IST J-ISHdieoh IR3R | Hacksaw I8 TH ?WWEF[ doll | gPYl <is Wicd | Wiic W ARl
in 3 phase motor stator winding while testing with over heated hacksaw blade repels against the |winding turns on the TRA&r JHg %’W IS DY Hl GI'I'CIT% S repels YHId I

internal growler by keeping hacksaw blade?

slots

slot

YR el A T TefRid Brar 82




Name of the Trade - Electrician 3" Sem - NSQF - Module 4 - AC Single Phase Motor

# |Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the working principle of single phase Lenz's law Joule’s law Faraday’s laws of | Faraday’s laws of [Uehdl TRUI YRV HICR I BRI RIgid HIT 57 = P T A &1 A TS & fdggd TS D idqg A 1
induction motor? electrolysis electromagnetic 3qged & Téll'l'q @W’q'ﬁ'q SR
induction e
2|What is the name of single phase motor? Permanent capacitor Induction start Capacitor start Capacitor start |7l Thol HICR b1 T AH 572 TR IUMRA AR | S8RM LI HUNIR LI HURTCR T[T A 1
motor capacitor run motor | capacitor run motor | induction run motor PRI T AR AR | TERMA T AR
i
3|What is the working principle of split phase Lenz's law Joule’s law Faraday's laws of | Faraday's laws of |[TIqilc TRUI HIcR P1 I RIGId 1 52 Tl Bl H S 1 A RIS & [dggd RIS P idqgl%'d; A 1
motor? electrolysis electromagnetic 3UYed & ﬂ'@ﬂﬁﬂ IR
induction aa
4|Which type of single phase motor is illustrated? | Universal motor Permanent Capacitor start Capacitor start  [Tchd TRUT HICR (5 YbR DI MGIRId 872 AU HICY | RIFTHYMRA ACRY | HURICR T[T HURIR T D 1
capacitor motor induction run motor | capacitor run motor EET:F‘F{FTI] [s53 AR
. @ =
QI 4 cs 1:2ui£v "
§ o o)
5|Which type of A.C single phase motor is Stepper motor Repulsion motor | Shaded pole motor Permanent T I RITA Bl AR 1Y bR &l hRJcex TR HicR UldpyUl Al | 3iT=a3Tied Uid AleR | [T JYTRA HieR B 2
classified under commutator motor type? capacitor motor qieR W%H@Ha’mmw%?
6|Which method is adopted to start the single Split phase method Varying supply Reversal of input | Reversal of running [RIFTeT thol SSaRIH HIcR B P o Tl [AHTSH D1 BIRERI g79¢ SMYId I psall A 2
phase induction motor? voltage method supply terminals coil connection |1 It fafdr 3UATS STl 87 fafer gleedl el &1 3wl | HAIRM BT Idel
DAl
7|What is the type of A.C single phase motor? | Permanent capacitor |  Capacitor start Induction start Capacitor start  |A.C T&Td ol HICR &1 UhR HT 57 QT FUMRA AR | HURICR LIS TSRM XWT DURICR T[T D 2
motor capacitor run motor | induction run motor | induction run motor T AR WFTI-I X WFTI-I X
2 z
L
&
8|What is the purpose of the capacitor (C) in Maintain constant | Improve the power | Protect fromthe | Reduce the sparks [STGHITH® HICX & U] R I [HIA | TFRAR T §H1E W | YTAR R H JUR [ 3MaR AlfsTT H S| HUDI IR W1 HH | D 2
centrifugal switch speed control method of speed factor over loading on the contacts  |fafer & Terfe (C) &1 e FATE? Gy
universal motor?
g
9|Which type of winding wire is used for PVC covered copper | Super enamelled Single cotton Double cotton  [HSHRISA UUl H1 AT B & ¢ [hy [ UG PaR g & | YR TIHTS PIR | RITA Dlcd daR | ST U Hax A 2
rewinding submersible pumps? wire copper wire covered copper wire | covered copper wire W%H‘I’{%‘TWWWWW%? R dRR HIUR IR GIEE IR
10|Which type of AC single phase motor having Induction start Capacitor start Capacitor start Resistance start [T PR & THI RITS ol HICR H HH RSRM EIC DURICY T[T HURICR T TIRIY ¥ D 2
low starting torque? induction run motor | induction run motor | capacitor run motor | induction run motor ¥ fét E'@Eﬁ?ﬂ%@ EET:F‘F{FTI] [+03 EET:F‘F{FTI] [+03 I HIR EET:F‘F{FTI] [+03
11|What is the function of centrifugal switch in Maintain constant Break the starting | Break the running | Protect the motor |[Udhdl @RUI HIcH B 3Udhgl 19 Dl B Rl | FRR Tid §-14 38 &H?TW drsisT &l (H{I drsisT &l Bl Eal 3113? B 2
single phase motors? speed winding winding from over loading |5? fagaford S PRAT AfST ¥ g2y
12|Which is the application of universal motor? Jet pump Food mixer Teleprinter Compressor  [JIAHIH® Al BT ATUINT DI AT 52 S Uy Yo THRR caliyeR HUR B 2




13|Which single phase motor is fitted with wound Repulsion motor | Shaded pole motor Permanent Capacitor start  [d13g R & 1Y I i Ul hell e JidH0l HicR | 3fT3Tiad Uld HieR | R QUM Alcy | JUTRA URY
rotor? capacitor motor capacitor run motor fihe %’? e 3 Hiey
14|What is the relation between running winding | Both resistances will | Running winding is | Running winding is | Running winding is [UIcRIY & Hatf H Th¢l aRUN SSARI HICR I | GHI ITARIY SRTER | I ARISTHH [T RIS YD | 7T ARIST $H,
and starting winding of a single phase be equal less, starting more, starting less, starting Tﬁﬂ‘q’[%%"'[ 3R wIfdT arEfen & &g T, dEfén e | g Wifcnafen |wifdn arfen srd
induction motor with respect to resistance? winding more winding less winding infinity  [HdY %’? H
15|What is the function of the part marked as ‘X’ Increase the Maintain constant Initiate the rotor Strengthen the [ 3{T3TIad UId HICR H 'x’ & ¥4 H [eigd HRT FOGIEAN R TTd §F1U 3G | X GHMG YR= B | b1 & $T
in shaded pole motor? efficiency speed movement magnetic field WEFI'CTEEH%? le_rl'{cfaﬁ
§
i
16|{How the direction of rotation of a capacitor By changing the By changing the By interchanging By interchanging [hURIER I SSARIH I HICX & A bl | MY[d SHHA bl | HUTRA D1 TAdRST | GF T3 R
start induction run motor is reversed? supply terminals capacitor main winding both main and  [f3=M HY I STt %? EENERS DI FGADY P g A NGRS a'rg%ﬂ
connections terminals auxiliary winding o PRD LEENICIERER]
terminals PP
17|Which single phase motor tapped field speed Universal motor | Shaded pole motor | Capacitor start Capacitor start ~ [Id Tdhd dell Bl HICX H U DIcs WIS AT HICY | 3MTBMed Ui HICR | BURICR T[T PURICR TS
control method is employed? induction run motor | capacitor run motor WWW%’P EET:F‘F{FTI] [s53 AR
18|Which type of single phase induction motor is Universal motor Repulsion motor | Shaded pole motor Permanent T THRR | 1" bR Dl Thd 0T URUI gHadd Hiex UldpyUl Al | 3iT=3Tied Uid AleR | [T JUTRA HieR
used in food mixer? capacitor motor Hiex &1 IUANT faart oirat 872
19|What is the angular displacement between 45 electrical degree | 60 electrical degree | 90 electrical degree 120 electrical [T dR0T URUI HICR DI I SR T 45 scildedhd STl | 60 Salldcdhd ISUl | 90 Salacehd [SUl (120 SAldedhd SY
starting and running winding of a single phase degree arefe %aﬂﬂaﬁvﬂuﬁww%?

induction motor?

20|Why the hysteresis motor is suitable for sound Small in size High efficiency | Noiseless operation | Less error operation [&[H RIS SUDRUN & 1o [oIC R 3fHR H BIC I gl RIGEEINE] %A Ffe T
recording instruments? qie’ SUgad 72

21|Which motor is preferred for domestic water Universal Motor Repulsion motor | Shaded pole motor | Capacitor start %?%UF]T U4l & Tl I Al HIcR UG Dl gHadd Hiex UldpyUl HieR | 3T=3Tied Uid AleR | FYUTRA URY HIeR
pumps? motor %’?

22|Which type of motor has relatively small Universal motor Capacitor start Capacitor start Resistance start [[d UbR &l HICI H 3U&THd HH b gidl | JHadd HleR PURICR T PURICR T[T TRIY =
starting torque? capacitor run motor | induction run motor | induction run motor |8? F AR 3@33217{?7-[1:] [oR 3@33217{?7-[1:] [o

23|What is the function of centrifugal switch in Protects from over | Maintains constant | Protect the motor |Make and break the |[TUIcilc all AR H 3Uwg! Rdd H1 HI A | 3d YURTIA S g | FRAOR Tid 991 EREIEER ; 3 g BRtE
split phase motor? current speed from over loading starting winding ? TGAT g QST 4§ R IR

from supply ?‘h’%

24|How to produce starting torque in a shaded Using rings on poles | Using capacitor on | Interchanging cage | Interchanging the U@ 3iTedligd Uidl Ul HICR H Wi <l AW B I | GATIGR v W | RII GRI DI I | a9 gRI Blcs

pole fan motor? winding circuits rotor windings by field coil windings [T 3G Y B2 ITIT AT TR BT ITANT | ARET DI Faa W?ﬂ'&'@'{ﬁ
switch by switch ' ' - DT ‘ WW

25|What is the reason to use a permanent Speed regulation Lower power Splitting of phase Controlling T HIcR Ficbe H Uoh RIRIT GUTRA BT RIGAGREE] [SSTcll @ HH WU |l & [oT¢ el &l | Tdggd Tdadxul

capacitor in fan motor circuit? consumption for torque electrical JUTNT B DT HRUT AT 872 fayreH HAT
interference

26/Which motor is having half coil winding? Mixer Grinder Ceiling fan Washing machine |- I AICY H 38 S AlSISIR Bidl 62 HeRR DIEEN EREalicl aNRAT AR

27|why running winding is placed in the bottom of | To get low resistance To get low To get high To get high T SIS HR & el I H Rl Il FHAURIY YA F |[HH IR U & g =T UTaRIY T[S IR0 UL b
the core? inductance resistance inductance iG] %? > ﬁ’ltf

28|Calculate the slot distance for a ceiling fan 90° 120° 180° 240° \311?1 DS DA H28 Xy, 14 §[d, 14 90 ° 120° 180 ° 240°
having 28 slots, 14 poles, 14 coils in half coil Siga ard e B & g wile &1 gt &l
connection? UM Y2

29|What is the application of shaded pole motor? Hair dryer Ceiling fan Wet grinder Washing machine |3fTsTicd Uld Al BT VAN T 52 B IRR EEE]] RIIPIESEN aNRAT AR




30|Which type of single phase motor is used for Stepper motor Repulsion motor Hysteresis motor | Reluctance motor [3TS % SIgd & [ Y UbR Dl RITTd TR AR PIRER RIS e RN AR Refac g Al
hard disk drives? Tl HIeR BT SN {3 S g2
31|What is the function of centrifugal switch used Disconnect the Disconnect the Disconnect the Disconnect the  [URICR ¥TC, HURICR I S8R Al H 75% H 80% DI | 75% H80% DI | 75% H80% DI | 75% I 80% DI
in capacitor start, capacitor run induction running winding after starting winding starting capacitor |starting and running sﬁmsﬁaﬁ g &1 o Hrd nﬁrwuga?r% nﬁrwuga%r Wt@iﬁ HIGKSED
motor? reached 75% to 80% | after reached 75% | after reached 75% winding after 8 WH'IQEIE@TH?[ W;lﬁ&ﬂ?ﬁ EI er z&ﬂ'cﬁ ol = 3R dlc]
speed to 80% speed to 80% speed reached 75% to f&wmae Cal ! R Eal ! ARSI B _
80% speed e pae ¥ e pae ¥ S pae
32|Which type of single phase motor is having Universal motor Reluctance motor Repulsion start Capacitor start ~ [Td JHR DI RITTA IR BT Thdl 3 gHadd Hiex RAKT AR [WdHYU YRY URUT | HURICR LI URUI
very high starting torque than any other type of induction run motor | induction run motor |JHR H1 ?if Fl}?o_\rr ﬁwﬁ%ﬂ IR A IR
single phase motor? 3 wIfé i 82
33|Where the capacitor is connected in a single  [In series with starting In series with In parallel with In parallel with  [HTRA BT Thd Dl RI-T HYUTRA Hlex H WCTARIST® | IFARISTD | LINCTARISTS | FHMIR I
phase permanent capacitor motor? winding running winding starting winding running winding  |gl \_rﬁ?,T Gl'l?‘lT%? RIEERENI | RIEERENI | Y FAFR o CIREUl & 1Y
34|Which motor is used in table fan? Universal motor | Shaded pole motor | Eddy current motor Permanent °9d U9 | [ AR BT IWIRT [ Siral g Al | TBMGd T AleR | YR URTHICR | RN YRS AR
capacitor motor ?
35|What is the effect, if coil group connection is Motor runs slowly Motor will not run | Motor runs in very Motor runs and [T Ushd dal HICR RARISTH Hed Ug  [HIC GR-UR Iadl | TR Tol daill | HICX Igd o9l Md | HIeR Fefdl § 3R
wrongly connected in a single phase motor high speed takes more current WWW@@EW % dran % ﬁﬂﬁ(‘ﬁ% f feft ds R
rewinding? at no load TYrq %‘? 3feH W@?ﬁ%
36|What is the effect in a repulsion motor, if the Direction of rotation | Direction of rotation Motor speed Motor speed will  [ATd YOI ATe H &1 UG BIdT &, Tlq CRM & 1R M & - AR P TMdIcs | HICR Bl Tid Ics
magnetic axis shifted to another side? will change remains same increases from reduce from rated ﬂﬁﬁﬁﬂ &l §¥R§ TRE VAR 81 oITdT 82 EENESII O T84 ? Wﬁ@fa@ GITETT% TIfd ¥ &4 gl o
rated speed speed
37|What is the effect if the centrifugal switch is Motor will run Motor will stop | Starting winding will | Motor will run very [ATeX & 81 & Sl 3D %] RId Bl ARIAAIFTIY | AR RA G 8l | LMed digisT o | Hiex 9gd 9Tal TTid
not disconnected after the motor starts? normally immediately burn out slow speed gﬁﬁﬁﬁmm%awuuﬁm Il Sl SRR q gaft
?
38|How the direction of rotation of repulsion By shifting the brush- [By interchanging the | By changing the By changing the [UId® YUl AICY & ASRME D] 1SR &l H SIR-31&] D1 SATYId el Bl Eé?%g&llddl{ HHIICT TRl
motors is to be reversed? axis supply terminals main winding compensating BRTW%’? MUY H g¢d PP P! FeadR | fial &) e
terminals winding terminals
39|Why a capacitor is connected across To maintain constant [ To protect from over | To improve the Toreduce the |1 TP HUTRA 3Tl Rag A [HAAV IATY | FRAR I §1¢ R ST I TR hacx & | JUBI H Wb HH
centrifugal switch in the centrifugal switch speed loading power factor sparks in contacts T st Raa I ST g3l 82 @ & forg M & forg YR §H & forg FH & fag
speed control method?
40|What is the effect, if some slots in a split Works normally | Reduction in speed | Reduction in torque |Runs with very high [J4Td T 8Id1 &, TG Yeblsd diIST & R | IH &Y H S Td | SHl TP | HAl ERcRERIGE]
phase motor left out without winding after speed a%r%aﬁfmzﬁmn X ﬁ@@ﬂ?ﬁ:ﬂ W% a Sd %
completion of concentric winding? EI'I'{%"T%@@_TFQ%?
41|How the radio interference can be suppressed By connecting By connecting By adding By connecting an  [STAHITH® HICX DI TId AT & U] 3Tl ’ad & 3Tl a4 & P 3Tl a4 &
in centrifugal switch method of speed control capacitor across capacitor in series compensating inductor in series | fafY 7 XS safaemzor &1 9 qam@r o | < SR Gerfar | 3y goft & Tenfa EIE%T@ 3R Ny guft ﬁ@
of universal motor? centrifugal switch with centrifugal winding with with centrifugal  [edT 872 1L P SSH FAYNSHY | SR Bl SR
switch armature switch




Name of the Trade - Electrician 3" Sem - NSQF - Module 5 - Alternator

# Question OPT A OPT B OPTC OPTD Question OPT A OPTB OPTC OPT D Ans Levels
1|Which formula is used to calculate E=222,FT E=4.44,FT [U& 3GRI 3fecAck H EMF / Tl ¢ FT © FT E=222¢FT E=444¢FT D 1
EMF/phase in a ideal alternator? _ @ FT _ 9 FT 1 U] HRA & feTY fobdt T b1 T S22 E =
2.22 4.44 IO foear STl 82 '
2|Which rule is used to find the direction | Cork screw rule  |Right hand palm rule| Fleming’s left hand Fleming's right  [3fceRAcR H YRd SUHUK & 1R Pl ¥p A Glied I P gUql | TRIFT D AN [FIHT P alg gl | D 1
of induced emf in an alternator? rule hand rule @Gﬁ?%ﬁmﬁqﬂﬁmﬂ &1 fFam CARERE &1 Fow
o e 872
3|What is the name of the part of Stator Exciter Salient pole rotor | Smooth cylindrical [3{ee¥ex & HIT BT ATH T 57 WX RS2 T YdeRx  |FH daTdR AR C 1
alternator? rotor
§
4|What is the formula to calculate emf E=4.44KyK. Ty | E=2.22KyK, Fd |E=4.44 Ky K, FT ¢| E =1.11 Ky K, F ¢y [3McCIAACI B JUATH FHIBRUT Bl [E =444 Ky K. T ¢y | E= 222 KyK, Foy | E= 444 KyK FT |[E=1.11K K. Fo,| C 1
equation of an alternator? %I'UFH B BTG A dm
?
5/How alternators are rated? KVA KW MW KV 3fceRAeR Bl HY TS byl Wldl 57 $hdly EINIEIS Hdare & dl A 1
6|Which formula is used to calculate the v v V _V = Y 3fceR-ex H UIdRId dleesl [a-gHA V _V _ V, -V v B 1
percentage voltage regulation in —8y X 100 Y x10 v, 100 =y X100 (Y U] A S T oy I T -y X100 —y x10 v~ 100 —y - x10
alternator? " " " I o STt %’? " " "
7|What is the supply frequency of an 25 Hz 40 Hz 50 Hz 60 Hz 1000 e—rmﬂuﬂ ™ 6 yYal 25 8ol 40 Beo 50 el 60 BCol C 1
alternator having 6 poles runs at 1000 \’rIchﬁ mﬁrw%')
rpm?
8|Calculate the speed of an alternator 1500 rpm 2500 rpm 3000 rpm 6000 rpm 50 gcol i 31%\1 TR 2 ¢dl d1dd T 1500 3{RUEH 2500 3RUTH 3000 3RUTH 6000 3RUTH C 2
having 2 poles at a frequency of 50 &Iﬁﬁa Gl CHRIE]
Hz? B2
9|What condition the lamps become Terminal voltages Voltage and Voltage and power Frequency are  |al 3{eeA EFQTHH’IHTW @ |CHAA dlces SRIeR | dlecdl 3R Mg qlecl 3fR TR I 3fceRAc H B 2
dark in dark lamp method of parallel are equal frequency are equal | rating are equal same in both Wéﬂ aqu@ﬁﬁaﬁf g TR & AT RIR & &Wﬁfwﬁ?ﬁ%
operation of two alternators? alternator S &2
10|How to compensate de-magnetizing | Reducing the speed Reducing field Increasing field Increasing the  [3feCXACY H STHAR TidIohdl & 3[ceCR Bl TMd &l | Wit IddoHl YRT | Thits ST URTH | 3fee-ex &l Md C 2
effect due to armature reaction in an of alternator excitation current excitation current | speed of alternator W@ YT &1 HH HIAT P HH HIAT delHl
alternator? I
11|What is the use of synchroscope? Adjust the output Adjust the phase | Adjust the supply [ Indicate the correct [[RIhiRebIU T IUIRT T 52 313cYc dlees Dl ol 3JhH 3MYfd 3MTgf JHACI & 1eI¢ Tl D 2
voltage sequence frequency instant for paralleling AR B3 I B BERISEER x_d Hohd ¢
12|What is the name of the equipment Exciter Inverter Converter Synchroniser  |3fceXAcX & U BI D.C U™ PR 3ol gax EREEN BEARIESR A 2
that provides D.C to the rotor of WHTHHZIT%?
alternator?
13|What is the purpose of damper Reduces the copper | Reduces windage Reduces the Improves the  [3fcex-c} H SHR ATsIST1 1 35T | dld o Jh A Bl qg B1H @] ®H glc o UHIG bl | dlceol [AFTHT H C 2
winding in alternator? loss losses hunting effect voltage regulation [T 87 E TGN PRAT S PHH P © YR pdl ?
14{Which condition is to be satisfied Rating must be same| Phase sequence Rotor impedance | Stator impedance [3fee3cR & JHMIMR IdTad 9 ST JHHE B ol 3IhH IHM | AR YIS 0 | WeR sHUIsI JqAHE | B 2
before parallel operation of must be same must be same must be same UB@I fufa ot H@g foar ST EIT%Q E?FH Ele%T\I E?Fﬁ HT%Q
alternators? %
15|What is the speed of an alternator 1000 rpm 1500 rpm 3000 rpm 4500 rpm 4 U7 dTeT X8 dlecs W 50 ol 1000 RUITH 1500 RUITH 3000 SRUTH 4500 3RUTH B 2
connected with a supply frequency of Gl \’rIchﬁ Gﬂqﬁf %?ﬂ?{ @% Uh
50 Hz at rated voltage having 4 poles? 3feeeR HI M leT




16/What condition the two lamps become | Terminal voltages Voltages and Voltages and phase |Both the alternators gl 3feeX=cxl & FHIR 8- P GRIM |CIHAA dlecdl SRISR | dlecdl 3R Therd] diecol RS |G Sfeex-ex JHH
bright and one lamp dark during are equal frequencies are sequence are equal receive same Eﬁ o forg BIdd T Serd % 3R Uh % RTR % S RECZCNER % Gﬂqﬁl U B %
paralleling of two alternators? equal frequency o EEUSIGL %‘?
17|What causes the terminal voltage of Field resistance Armature reaction | Inductive reactance | Armature resistance [Ti¢ HR dgdl g, dl 3feccx-cR Bl REFIGNE] 3THOR Tiaidhdr TR Ui 3R UfaRIY
an alternator reduces, if the load W?f SITdT %?
increases?
18|What is the purpose of using damper Prevents heating |Reduces copper loss| Reduces windage Prevents the AC R H SR dTgiST &l BlicT dIRAbdl e | dld &b JHIM DI JHUH Bl HH BICT o UHId Dl
winding in AC generator? loss hunting effect P BT I FT 8?2 HH AT PRAT® APpdT 8
19|What is the type of alternator? Brushless alternator Three phase Single phase Salient pole type  [3fce-cR &1 UHR KT 57 SRIIBd eeIeR | diF ol 3fceex | Thd bl 3feex-er | Hieric §d UbR
alternator alternator alternator 3feee
EXCITER FIELD s
ARMATORE g MAIN FIELD
EXCITER FIELD 5
MAIN ARMATURE E
i
20| Calculate the speed in r.p.s of the 2 50 rps 100 rps 1500 rps 3000 rps 2 UTd, 50Hz 3R B r.p.s A 50 3RUTTY 100 3RUTH 1500 3RUTH 3000 3{RUTY
pole, 50Hz alternator? TTfa &1 TUAT B2
21|What is the advantage of using Easy to locate the | Easy to connect the | Easy to dissipate | Two slip rings only [0 &7 UPR 3ccx1e DI ITANT | GFAHGI BTl | 3fccdex & A1y 75-1$ GREATHT | ol Reu R &1
rotating field type alternator? faults in the field load with alternator the heat during required DI BT T BT 82 WA AR | TS Bl e Bl 1 Tl S Wﬁ?ﬁ%
running irrespective of No. GWIT-[% a@ﬁﬁﬁaﬁm
of phases foram +f sﬁ
22|What is the effect in increasing the Prevents Over voltage Dead short circuit | Alternator will be  [3fce-1cR H Bits 3ol YRT Bl [dae HIADA ¢ | 3MUD dlecard  [Hd e Albe W& 3feeIAeR AR
field excitation current in alternator? demagnetizing protection protection over loaded EIE'Ief J T YT gadr %’? R dIss EﬁTIT
23|Calculate the pitch factor (Kp) for a 0.942 0.965 0.978 0.985 3fTeRcy § 30 ° PIUT (a) P 1Y 36 0.942 0.965 0.978 0.985
winding having 36 stator slots 4 pole LR WIIC 4 U Eﬂﬁgﬁﬂfﬁﬂ %
with angle (a) is 30° in alternator? fore forg BaeR (KP) & 0T 632
24|What is the cause for hunting effectin | Due to over load [Running without load|  Running with Due to continuous |3{ceR-cR H gici & YHId BT HRUI | 3Hfeih UR & HRUI [[dH1 TS P dd 81 5| d o SAR-dGId & | AIG H MR IdR-
alternators? fluctuation of speed | fluctuation in load |31 8?2 BIVERERE TIGId B PRI
25|Calculate the voltage regulation in 27.2% 32.5% 37.5% 38.5% e U 3fecicx 9 dls gel el 27.2% 32.5% 37.5% 38.5%
percentage if the load is removed SITdT % al dicesl 480V I 660V dH
from an alternator, the voltage rises S Sl g, fafge vfa=ra
from 480V to 660V? UM DIfoR?




Name of the Trade - Electrician 3" Sem - NSQF - Module 6 - Synchronous Motor and MG Set
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# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the name of the converter? Metal rectifier Rotary converter | Mercury arc rectifier | Silicon controlled [®-acR &1 A1H HIT §° Y1q laPdRI AR HAacR TR 3{Teh [ePDR| | Riferpid HaRd D 1
rectifier
{+)
(2] g
2|What is the name of the converter? Metal rectifier Rotary converter | Mercury arc rectifier | Motor-Generator set|[@®+dcx &1 A1 R §? YTq [aPdRI R} HAdCR TRDR 3{Teh [GPDR[ | HAlCI-SRex AT B 1
I —
I
I ]
N H
H
3|why D.C supply is necessary for Reduce the losses Start the motor Run the motor with | Run the motor at  [[IghI¥ HICR_HTRRM & [T D.C 3MYId | T DI PHAIX | [ H HICR WIC IR |AIR I AR A8 & | AR ﬁgwehl_iﬂcb D 2
synchronous motor operation? initially over load synchronous speed T} 3aRgH %? RIKENILY T & Teme
4|Which acts as both inverter and converter? Metal rectifier Mercury arc rectifier | Semi conductor Synchronous |G $7dcR 3R HIdcR gl & U H B 1q QPP RI TR 3T [CFRRI | SE=TAD SHTS Joddlicid Hdex | D 2
diode converter HRAT &2
5|What is the function of inverter? Convert A.Cto D.C | Convert D.Cto A.C | Smoothening A.C | Convert pulsating [3-dcX &1 b1 R 5?2 A.CHID.C HIGa [D.C Bl A.CHdaad| A.C IIsd dRIT &bl Pulsating DC &1 B 2
sine wave DC into pure D.C T HAT IS D.C & gadl
6[Which converting device can be over Rectifier unit Rotary converter | Motor generator set | Mercury arc rectifier [®1 9T URdd® 3UHRUT HaR TS (bl [eFPRI ge R HAacR MR TR IC | IRARI A [GFHRI | A 2
loaded? %ﬂ o dl
?
7|Why exciter is essential to run a Carry more load in | Improve the power | Reduce the losses | Run the motor at |RIShI¥ HIcR Bl M & [olY J1ioi ol | AR H 31U HR T | TR hdex H FUR gRHAGH A _ | Al ﬁ%@lmljmm D 2
synchronous motor? motor factor in motor synchronous speed &HT:IW%? Sy Waﬁaﬂqﬁ T < Teme
8|Which application requires only DC? Electroplating Stepping up of | Operating induction |Operating repulsion [f&d TKIHRA &1 Had ST DI faqgd oud dlecsl ST SR HICR U |Uidhyu AR U= | A 2
voltage motor motor AT R dT %?
9|Why the LED’s are avoided as converters |Heavily doped device| Very low power Designed for light | Very sensitive to  |[[qE®RI SIS H Udg sl dl d-dcy & 3ffef STCs Piad | Igd A Riad Jiad | THTRI S&HoH & [ | ATIHM D Uid Igd B 2
in rectifier diodes? device emitting temperature 0 H Y Tl Sl 872 T AT R Hag=fta
10|Which is the main application of Elevators Paper rolling mills | AC to DC converter Power factor RISpTH HIcH &1 J IUINT HI IT 5?2 SES BRI AT Wl | TH I SI™l HAacR | UTaR thaeR hRaRMH D 2
synchronous motor? correction device
11|What is the advantage of motor generator Noiseless High efficiency Low maintenance | DC output voltage [HICR SFRCR Ic &l AT 1 57 MR I c&fdl HHAIRTE DI | SHET dlecs | D 2
set? required can be easily TIGHdl § CARIIEIE AR DIE]
controlled far S gar g
12|What is the function of the part marked as | Converts AC to DC | Reduces voltage Helps to deliver Collects the e’ HIdcR & HIT'X' DT HT B 5?2 T I ST H dlecol g Bl HH | ST IR & CRIESERFRERY D 2
‘X’ of the rotary converter? drop without noise delivered direct uﬁ—rﬂﬁaw% W%’ 4 ¥ Hag Rl WW%
current




13|What is the purpose of damper winding in |Produce high voltage Produce high Produces torque Produce a high [J& A U JeddIicid HIeR H§ SAR YA L= R &b | HICI Dbl A & oY | <lh ﬁaw 8 3R | T 17904 TTid §1¢

a synchronous motor at starting? to initiate the rotation current to start and runs near in magnetic-field to fﬂg%‘ﬂaw‘r ERIH%’? ﬁ*ﬂ;fﬁﬁﬁéﬁaﬂ SR INEARISIEY S2EFINEY A o T@ﬁ%ﬁﬂ@ﬁﬁ
rotate the motor synchronous speed | maintain a constant TG P PR EINECNGI %’ ﬂﬁwaﬁ Gl fAmfor
speed B

14|Why the synchronous motor fails to run at | Insufficient excitation | Defective pony Open in damper Short in damper  [RIshI9 AR RishI=H Tid F Rl gl 3T 3ol I9gUl GIHT Hiex ol SAR dISIST | SW dIgisT | Qi
synchronous speed? motor winding winding TaAN?

15|How the synchronous motor is used as a Varying the motor Varying the rotor Varying stator Varying stator  |TRgh¥ HICR B RIHIY HSAMR & =Y | X Al H dGad  |[eR IuoHl H ggard | Al § Wex dlecsl | AR H TR URTH
synchronous condenser? load excitation voltage in motor current in motor forar ST 872 T ggaa EENIC)

16[What is the function of damper windings in |Maintain power factor| Excite the field Maintain constant Start the JegPIIeid HIeX H SR Alsls™ I /T | TlaR Hhack U™ | Blcs dlgls] ol Fad Tid I G |Rish 9 AleR & DR
synchronous motor? winding speed synchronous motor ? Iferd &

17|Which converter is having high efficiency? SCR converter Rotary converter | Motor generator set | Mercury arc rectifier [®1 ¥ ®-1dc: H 3= G&ldl 872 SCR ®-dcx RICR| HAdCR MR TR IS | ARDI 3(Th [GFDRI

18|How synchronous motor works as a power |  Varying the line Varying the field Increasing the Decreasing the  [h¥ JedIIcIeh HICR UTaR hdeR YURSD | T dlecsl H 9Gad | icg 3o 4 IR DI A dgMT | HicR Dl 7Tid geHT
factor corrector? voltage excitation speed of motor speed of motor & ¥Y T B Hdl EENIC

22






